

Item#	Description	Size	Qty On Hand	Qty On Order	Qty Avail	Cur Price	Total Value	20% Off price	
09124	Abelia G. Edward Goucher	#1	69	0	69	5.56	383.30	4.44	
05066	Abelia g. Francis Mason NLG	#5	0	0	0	12.87	0.00	10.30	
00005	Abelia g. Francis Mason NLG	#1	399	0	399	5.56	2,216.45	4.44	
00008	Abelia grandiflora	#15	44	0	44	52.09	2,291.74	41.67	
09236	Abelia Kaleidescope	#1	0	0	0	9.35	0.00	7.48	
07295	Abelia Kaleidescope	#5	39	0	39	27.10	1,057.06	21.68	
00039	Acacia baileyana Purpurea	#5	0	0	0	24.64	0.00	19.71	
00040	Acacia baileyana Purpurea	#15	3	0	3	59.57	178.70	47.65	
07691	Acacia Cognata	24" BOX	0	0	0	252.00	0.00	201.60	
08414	Acacia Cognata	#5	2	0	2	24.64	49.28	19.71	
00035	Acacia melanoxylon	24" BOX	0	0	0	154.00	0.00	123.20	
08070	Acacia Melanoxylon	36" BOX	1	0	1	523.60	523.60	418.88	
00045	Acacia r. Low Boy	#1	397	0	397	5.89	2,336.35	4.71	
00043	Acacia redolens	#1	0	0	0	3.69	0.00	2.95	
00044	Acacia redolens	#5	132	0	132	11.38	1,502.69	9.11	
00048	Acacia Smallii	#15	9	0	9	52.09	468.77	41.67	
05969	Acacia Smallii NLG	36" BOX	3	0	3	523.60	1,570.80	418.88	
00052	Acacia stenophylla	24" BOX	4	0	4	172.48	689.92	137.98	
05061	Acer Negundo 'flamingo'	24" BOX	8	0	8	215.60	1,724.80	172.48	
07722	Acer P. Crimson Queen	24" TUB	3	0	3	252.00	756.00	201.60	
05965	Acer P. 'oshio Beni' NLG	48" BOX	1	0	1	1,971.20	1,971.20	1,576.96	
07913	Acer palmatum	24" TUB	14	0	14	203.28	2,845.92	162.62	
00087	Acer Palmatum	#15	4	0	4	67.05	268.18	53.64	
00088	Acer palmatum	24" BOX	5	0	5	203.28	1,016.40	162.62	
00089	Acer Palmatum	36" BOX	10	0	10	616.00	6,160.00	492.80	
04371	Acer Palmatum	48" BOX	1	0	1	1,232.00	1,232.00	985.60	
00099	Achillea Millefolium	#1	311	0	311	5.12	1,590.77	4.09	
08372	Achillea Milliefolum	#2	0	0	0	11.76	0.00	9.41	
00101	Achillea moonshine	#1	91	0	91	5.12	465.47	4.09	
05523	Acorus Gramineus	#1	630	0	630	5.89	3,707.55	4.71	
09153	Adenanthos Sericeus	#5	18	0	18	27.50	495.00	22.00	
07529	Aeonium Salad Bowl Gree	#5	16	0	16	24.64	394.24	19.71	
08438	Aeonium Sunburst	#1	0	0	0	8.75	0.00	7.00	
08350	Aeonium Zwartkop	#1	30	0	30	8.75	262.35	7.00	
07528	Aeonium Zwartkop	#5	0	0	0	24.64	0.00	19.71	
00125	Agapanthus A. Peter Pan	#1	421	0	421	4.46	1,875.56	3.56	
00126	Agapanthus A. Peter Pan	#5	41	0	41	12.14	497.54	9.71	
08356	Agapanthus A. Peter Pan White	#1	95	0	95	6.00	569.53	4.80	
00112	Agapanthus Africanus Blue	#1	27	0	27	3.69	99.50	2.95	

00113	Agapanthus Africanus Blue	#5	290	0	290	11.38	3,301.36	9.11
00116	Agapanthus Africanus Var.NLG	#5	0	0	0	35.58	0.00	28.46
00117	Agapanthus Africanus White	#1	184	0	184	4.46	819.72	3.56
00118	Agapanthus Africanus White	#5	31	0	31	12.81	397.20	10.25
00119	Agapanthus Dwarf White	#1	0	0	0	4.46	0.00	3.56
00120	Agapanthus Dwarf White	#5	0	0	0	12.14	0.00	9.71
00121	Agapanthus Elaine	#1	19	0	19	10.40	197.51	8.32
05475	Agapanthus Elaine	#5	4	0	4	20.66	82.64	16.53
00130	Agapanthus Queen Ann	#1	475	0	475	4.46	2,116.13	3.56
00131	Agapanthus Queen Ann	#5	139	0	139	11.38	1,582.38	9.11
09156	Agapanthus Queen of the Nile	#1	760	0	760	7.15	5,434.00	5.72
00127	Agapanthus Tinker Bell	#1	1,030	0	1,030	11.17	11,499.95	8.93
00129	Agapanthus Tinker Bell	#5	10	0	10	21.34	213.38	17.07
06134	Agapanthus Yellow Stripe	#5	0	0	0	12.14	0.00	9.71
00709	Agathis Robusta	36" BOX	0	0	0	1,232.00	0.00	985.60
08779	Agave A Blue Flame	#3	225	0	225	36.96	8,316.00	29.57
08523	Agave A. Blue Glow	#3	2	0	2	36.96	73.92	29.57
07549	Agave A. medio-picta Alba	24" TUB	5	0	5	168.00	840.00	134.40
00151	Agave Americana	#5	294	0	294	20.66	6,074.04	16.53
00152	Agave Americana	#15	2	0	2	74.53	149.05	59.62
08422	Agave Americana Var.	#7	0	0	0	50.40	0.00	40.32
05755	Agave Americana Var.	#15	2	0	2	74.53	149.05	59.62
05853	Agave Americana Var.	24" BOX	0	0	0	154.00	0.00	123.20
05667	Agave Americana Var.	#5	26	0	26	20.66	537.16	16.53
08930	Agave Att. Sunray	#5	1	0	1	35.58	35.58	28.46
08933	Agave Att. Sunray	4" CUP	0	0	0	3.50	0.00	2.80
00158	Agave Attenuata	#5	230	3	227	20.66	4,689.82	16.53
04749	Agave Attenuata	24" BOX	0	0	0	154.00	0.00	123.20
00157	Agave Attenuata	#1	11	0	11	6.66	73.21	5.32
00160	Agave Attenuata	#15	4	0	4	81.90	327.58	65.52
00164	Agave Vilmoriniana	#5	2	0	2	20.66	41.32	16.53
07790	Agonis f. Jervis Bay Afterdark	24" TUB	50	0	50	326.48	16,324.00	261.18
07039	Agonis f. Jervis Bay Afterdark	#1	0	0	0	18.76	0.00	15.00
08325	Agonis Flexuosa Burgundy	24" BOX	1	0	1	326.48	326.48	261.18
04874	Ajuga Bronze	#1	124	0	124	4.46	552.42	3.56
07424	Albizia J. Chocolate Chips.	24" TUB	5	0	5	196.00	980.00	156.80
00171	Albizia julibrissin Multi	#15	1	0	1	74.53	74.53	59.62
00172	Albizia julibrissin Multi	24" BOX	30	0	30	172.48	5,174.40	137.98
00173	Albizia julibrissin Multi	36" BOX	7	0	7	523.60	3,665.20	418.88
06457	Albizia julibrissin Multi	#5	0	0	0	17.79	0.00	14.23
00176	Albizia julibrissin std	24" BOX	14	0	14	172.48	2,414.72	137.98

00175	Albizia julibrissin std	#15	0	0	0	67.05	0.00	53.64
00177	Albizia julibrissin std	36" BOX	4	0	4	523.60	2,094.40	418.88
09316	Aloe Arborencens	#7	23	0	23	65.00	1,495.00	52.00
06551	Aloe Arborencens	36" BOX	0	0	0	554.40	0.00	443.52
06516	Aloe Arborescens	#1	577	0	577	4.46	2,570.54	3.56
00190	Aloe Arborescens	#5	236	0	236	20.66	4,875.76	16.53
06341	Aloe Blue Elf	#1	83	0	83	5.89	488.46	4.71
09303	Aloe Plicatilis	#15	3	0	3	111.71	335.12	89.36
06635	Aloe striata	#5	5	0	5	18.48	92.40	14.78
07165	Aloe striata	10" BOX	0	0	0	92.40	0.00	73.92
06095	Aloe striata	#15	3	0	3	111.71	335.12	89.36
00198	Aloe striata	#1	292	0	292	7.43	2,168.10	5.94
05245	Aloe Vera (Barbadensis)	#5	0	0	0	27.10	0.00	21.68
08099	Aloe Vera (Barbadensis) NFS	#1	150	0	150	10.07	1,509.75	8.05
04665	Aloysia Triphylla	#5	0	0	0	12.87	0.00	10.30
06709	Alpinia Varigated	#1	70	0	70	9.19	642.95	7.35
06886	Alpinia Varigated NFS	#5	97	0	97	24.64	2,390.08	19.71
01477	Alsophila Australis	#1	0	0	0	6.66	0.00	5.32
01478	Alsophila Australis	#5	18	0	18	22.18	399.17	17.74
01479	Alsophila Australis	#15	3	0	3	74.53	223.58	59.62
05203	Anigozanthos 'Big Red'	#5	16	0	16	22.77	364.29	18.21
00222	Anigozanthos Flavidus	#1	59	0	59	11.83	697.68	9.46
00223	Anigozanthos Flavidus	#5	48	0	48	21.68	1,040.78	17.35
00224	Anigozanthos Flavidus	#15	0	0	0	96.86	0.00	77.48
04954	Anigozanthos Harmony	#1	2	0	2	11.83	23.65	9.46
05211	Anigozanthos Harmony	#5	5	0	5	22.77	113.84	18.21
07398	Arbutus Marina Multi	24" TUB	46	0	46	215.60	9,917.60	172.48
00246	Arbutus Marina Multi	#15	40	0	40	89.38	3,575.00	71.50
00248	Arbutus Marina Std	#5	0	0	0	49.28	0.00	39.42
00249	Arbutus Marina Std	#15	1	0	1	81.90	81.90	65.52
00250	Arbutus Marina Std	24" BOX	57	-1	58	197.12	11,432.96	157.70
00251	Arbutus Marina Std	36" BOX	16	0	16	616.00	9,856.00	492.80
05756	Arbutus Marina Std	24" TUB	0	0	0	197.12	0.00	157.70
04805	Arbutus Marina Std	48" BOX	1	0	1	1,232.00	1,232.00	985.60
00253	Arbutus unedo 'Compacta'	#5	5	0	5	24.64	123.20	19.71
00255	Arbutus unedo 'Compacta'	24" BOX	0	0	0	197.12	0.00	157.70
09299	Arbutus Unedo 'Compacta'	36" BOX	1	0	1	616.00	616.00	492.80
00258	Arbutus Unedo Multi	#15	126	0	126	67.05	8,447.67	53.64
00259	Arbutus Unedo Multi	24" BOX	14	0	14	172.48	2,414.72	137.98
00256	Arbutus Unedo Multi	#1	0	0	0	6.55	0.00	5.24
09058	Arbutus Unedo Multi	36" BOX	1	0	1	1,000.00	1,000.00	800.00

06015	Archontophoen Cunn Multi	24" TUB	51	0	51	215.60	10,995.60	172.48
03075	Archontophoen Cunn Multi	#15	0	0	0	81.90	0.00	65.52
03080	Archontophoen Cunn Multi	#7	90	0	90	43.12	3,880.80	34.50
03081	Archontophoenix Cunn	#15	5	0	5	81.90	409.48	65.52
03084	Archontophoenix Cunn	36" BOX	3	0	3	591.36	1,774.08	473.09
06025	Archontophoenix Cunn	24" TUB	0	0	0	215.60	0.00	172.48
04546	Archontophoenix Cunn	48" BOX	1	0	1	1,848.00	1,848.00	1,478.40
00270	Arctostaphylos D Howard McMinn	#1	0	0	0	8.20	0.00	6.56
00271	Arctostaphylos D Howard McMinn	#5	1	0	1	16.94	16.94	13.55
03139	Arecastrum Roman Multi	36" BOX	13	0	13	616.00	8,008.00	492.80
05022	Arecastrum Romanzoffia	#5	2	0	2	24.20	48.39	19.36
05023	Arecastrum Romanzoffianum	#15	0	0	0	67.05	0.00	53.64
05025	Arecastrum Romanzoffianum	36" BOX	4	0	4	554.40	2,217.60	443.52
05282	Arecastrum Romanzoffianum	24" TUB	5	0	5	166.32	831.60	133.06
05362	Arecastrum Romanzoffianum	60" BOX	0	0	0	1,848.00	0.00	1,478.40
05354	Arecastrum Romanzoffianum	FG	397	0	397	246.40	97,820.80	197.12
05026	Arecastrum Romanzoffianum NLG	48" BOX	16	0	16	1,232.00	19,712.00	985.60
01708	Aristea Ecklonii	#1	0	0	0	6.66	0.00	5.32
08428	Aristea Ecklonii	#5	119	0	119	19.71	2,345.73	15.77
00280	Armeria Maritima Pink	#1	530	0	530	4.02	2,127.95	3.21
00281	Armeria Maritima White	#1	568	0	568	4.02	2,280.52	3.21
00287	Artemisia Powis Castle	#5	24	0	24	12.14	291.24	9.71
01466	Asparagus Dens Myerii	#5	84	1	83	17.79	1,476.57	14.23
01465	Asparagus Dens Myerii	#1	940	0	940	7.32	6,876.10	5.85
09186	Aspidistra Eletor	#2	370	0	370	14.50	5,365.00	11.60
00289	Aspidistra Eliator	#1	54	0	54	8.20	442.53	6.56
00290	Aspidistra Eliator	#5	113	2	111	17.79	1,974.69	14.23
06806	Aspidistra Eliator	#15	0	0	0	67.05	0.00	53.64
07436	Aspidistra Milky Way	#5	488	0	488	20.66	10,082.08	16.53
09275	Aspidistra Milky Way	#1	400	0	400	7.50	3,000.00	6.00
01474	Asplenium Bulbiferum	#5	280	0	280	17.79	4,981.20	14.23
01476	Asplenium Nidus	#1	0	0	0	7.32	0.00	5.85
00304	Aucuba Jap Variegata	#15	13	0	13	89.38	1,161.88	71.50
00302	Aucuba Jap Variegata	#1	0	0	0	7.32	0.00	5.85
06158	Aucuba Jap Variegata	#5	54	0	54	13.55	731.81	10.84
07876	Azalea Alaska White	#10	0	0	0	88.05	0.00	70.44
00305	Azalea Alaska White	#5	0	0	0	20.66	0.00	16.53
06876	Azalea Alaska White	#15	4	0	4	89.38	357.50	71.50
04956	Azalea Red Bird	#1	320	0	320	8.20	2,622.40	6.56
06859	Azalea Red Bird	#5	0	0	0	20.66	0.00	16.53
07364	Azalea Red Bird	#15	2	0	2	96.86	193.71	77.48

00362	Bacopa White	#1	43	0	43	6.55	281.44	5.24
00355	Bamboo Arund Pygmaea	#1	0	0	0	8.20	0.00	6.56
00356	Bamboo Arund Pygmaea	#5	96	0	96	20.66	1,983.36	16.53
07791	Bamboo m. Alphonse Karr	24" TUB	15	0	15	308.00	4,620.00	246.40
00330	Bamboo m. Alphonse Karr	#5	0	0	0	49.80	0.00	39.84
00332	Bamboo m. Alphonse Karr	#15	9	0	9	119.19	1,072.67	95.35
05350	Bamboo Oldhamii	24" TUB	1	0	1	277.20	277.20	221.76
07208	Bamboo Otatea Acumi Azteco NLG	24" BOX	1	0	1	308.00	308.00	246.40
05798	Bamboo Phyllos Aurea	24" TUB	4	0	4	246.40	985.60	197.12
00337	Bamboo Phyllos Aurea	#15	0	0	0	149.00	0.00	119.20
00348	Bamboo phyllostachys nigra	#15	78	0	78	149.00	11,621.61	119.20
00349	Bamboo phyllostachys nigra	24" BOX	0	0	0	351.12	0.00	280.90
05797	Bamboo phyllostachys nigra	24" TUB	40	0	40	351.12	14,044.80	280.90
07543	Bamboo phyllostachys nigra	#7	5	0	5	123.20	616.00	98.56
07378	Bauhinia Purpurea Standard	48" BOX	1	0	1	1,232.00	1,232.00	985.60
00383	Bauhinia Purpurea Standard	#1	245	0	245	7.32	1,792.18	5.85
05531	Baumea Rubiginosa Vari	#1	0	0	0	7.32	0.00	5.85
05532	Baumea Rubiginosa Vari	#5	324	0	324	17.79	5,763.96	14.23
08025	Baumea Rubiginosa Vari	#15	0	0	0	48.79	0.00	39.03
03047	Beaucarnea recurvata	#5	3	0	3	20.53	61.58	16.42
00395	Begonia Angel Wings	#1	24	0	24	8.20	196.68	6.56
05374	Begonia Rex	#5	6	0	6	17.79	106.74	14.23
06357	Betula Nigra	24" BOX	8	0	8	154.00	1,232.00	123.20
07099	Betula Nigra	#1	0	0	0	6.55	0.00	5.24
04691	Betula Pendula Multi	48" BOX	1	0	1	1,232.00	1,232.00	985.60
00419	Betula Pendula Multi	#15	0	0	0	67.05	0.00	53.64
00420	Betula Pendula Multi	24" BOX	19	0	19	154.00	2,926.00	123.20
00421	Betula Pendula Multi	36" BOX	6	2	4	523.60	2,094.40	418.88
00426	Betula Pendula Standard	36" BOX	1	0	1	523.60	523.60	418.88
00445	Bougainvillea Barbara Karst	#15	1	0	1	67.05	67.05	53.64
00452	Bougainvillea Brasiliensis Stk	#15	3	0	3	67.05	201.14	53.64
00467	Bougainvillea James Walker	#5	9	0	9	20.66	185.94	16.53
00468	Bougainvillea James Walker	#15	0	0	0	119.19	0.00	95.35
00483	Bougainvillea La Jolla	#1	0	0	0	8.20	0.00	6.56
00484	Bougainvillea La Jolla	#5	902	0	902	17.82	16,069.13	14.25
00485	Bougainvillea La Jolla	#15	4	0	4	59.57	238.26	47.65
00495	Bougainvillea Orange King Stk	#5	1	0	1	20.66	20.66	16.53
00521	Bougainvillea San Diego Red	#1	6	0	6	8.20	49.17	6.56
00540	Bougainvillea Torch Glow	#15	2	0	2	59.57	119.13	47.65
09309	Bouteloua Gracilis	#5	208	0	208	18.00	3,744.00	14.40
00549	Brachychiton populneus	#5	0	0	0	20.66	0.00	16.53

00550	Brachychiton populneus	#15	112	0	112	59.57	6,671.28	47.65
00551	Brachychiton populneus	24" BOX	19	0	19	154.00	2,926.00	123.20
00552	Brachychiton populneus	36" BOX	0	0	0	523.60	0.00	418.88
06454	Brachychiton populneus	60" BOX	0	0	0	2,464.00	0.00	1,971.20
02377	Brachychiton populneus	48" BOX	1	0	1	1,232.00	1,232.00	985.60
09012	Brugmansia C. Charles Grimal	#1	67	0	67	7.43	497.48	5.94
09190	Brugmansia C. Charles Grimal	24" TUB	0	0	0	184.80	0.00	147.84
09140	Brugmansia C. Charles Grimal	#15	0	0	0	67.05	0.00	53.64
09054	Brugmansia S. Betty Marshall	#5	15	0	15	22.77	341.55	18.22
09013	Brugmansia S. Betty Marshall	#1	60	0	60	7.43	445.50	5.94
09125	Brugmansia S. Betty Marshall	#15	9	0	9	67.05	603.41	53.64
00554	Brugmansia Suaveolens Pink	#1	75	0	75	7.43	556.88	5.94
00555	Brugmansia Suaveolens Pink	#5	0	0	0	22.77	0.00	18.21
00556	Brugmansia Suaveolens Pink	#15	9	0	9	67.05	603.41	53.64
09122	Buddleia D. Raspberry	#1	57	0	57	7.15	407.55	5.72
09179	Buddleia D. Raspberry	#5	2	0	2	15.40	30.80	12.32
07466	Buddleja Dwarf White	#5	52	0	52	12.20	634.24	9.76
07637	Buddleja Lonchin. Blue	#1	0	0	0	6.00	0.00	4.80
00587	Buddleja Nanho Purple	#5	23	0	23	12.20	280.53	9.76
07381	Butia capitata	24" TUB	1	0	1	227.92	227.92	182.34
07723	Butia Capitata	60" BOX	0	0	0	2,016.00	0.00	1,612.80
06570	Butia capitata	#5	100	0	100	26.43	2,642.60	21.14
07641	Buxus Green Gem	#7	17	0	17	44.80	761.60	35.84
07134	Buxus Green Gem	14" BOX	2	0	2	80.08	160.16	64.06
07068	Buxus Green Gem	#15	70	0	70	67.05	4,693.15	53.64
06418	Buxus Green Gem	#1	0	0	0	4.46	0.00	3.56
06375	Buxus Green Gem	#5	109	0	109	10.84	1,181.78	8.67
04978	Buxus Korean	#1	0	0	0	6.66	0.00	5.32
00594	Buxus M. J. 'green Beauty'	#1	95	0	95	4.46	423.23	3.56
00595	Buxus M. J. 'green Beauty'	#5	32	0	32	11.52	368.61	9.22
00596	Buxus M. J. 'green Beauty'	#15	12	0	12	67.05	804.54	53.64
07083	Buxus M. Japonica	16" BOX	0	0	0	73.92	0.00	59.14
00597	Buxus M. Japonica	#1	23	0	23	4.46	102.47	3.56
00598	Buxus M. Japonica	#5	1,033	0	1,033	10.84	11,199.79	8.67
00599	Buxus M. Japonica	#15	93	0	93	59.57	5,539.55	47.65
00600	Buxus M. 'winter Gem'	#1	0	0	0	5.56	0.00	4.44
00601	Buxus M. 'winter Gem'	#5	61	0	61	11.52	702.66	9.22
00602	Buxus M. 'winter Gem'	#15	109	0	109	67.05	7,307.91	53.64
07640	Buxus M. 'Winter Gem'	#7	64	0	64	44.80	2,867.20	35.84
06625	Calandrinia Grandiflora	#1	354	0	354	8.86	3,134.67	7.08
00615	Calliandra Haematocephala	#1	332	0	332	5.89	1,953.82	4.71

00618	Calliandra Haematocephala	#5	242	0	242	14.91	3,607.49	11.93
00621	Calliandra Haematocephala	#15	0	0	0	59.57	0.00	47.65
06485	Calliandra Haematocephala Stk.	#15	22	0	22	59.57	1,310.43	47.65
05204	Callistemon Little John	#15	68	0	68	59.57	4,050.42	47.65
00652	Callistemon Little John	#1	849	0	849	6.00	5,089.76	4.80
00653	Callistemon Little John	#5	438	0	438	11.89	5,207.38	9.51
00656	Callistemon Viminalis	#15	2	0	2	67.05	134.09	53.64
00695	Calocedrus Decurrens	#1	230	0	230	7.43	1,707.75	5.94
00668	Camellia Japonica Assorted	#15	26	0	26	96.86	2,518.23	77.48
00664	Camellia Japonica Assorted	#1	0	0	0	21.40	0.00	17.12
06317	Camellia Japonica Assorted	24" BOX	1	0	1	215.60	215.60	172.48
00701	Campanula Poscharskyana	#1	10	0	10	4.46	44.55	3.56
05441	Canna Striped Beauty	#5	0	0	0	12.87	0.00	10.30
07803	Canna varigated	#3	171	0	171	19.65	3,360.15	15.72
06044	Canna Varigated	#5	69	0	69	19.65	1,355.85	15.72
00689	Canna Varigated	#1	82	0	82	7.43	608.85	5.94
00692	Canna Varigated Gold	#5	0	0	0	19.65	0.00	15.72
00679	Cannas Assorted	#1	0	0	0	5.12	0.00	4.09
00680	Cannas Assorted	#5	6	0	6	12.87	77.24	10.30
05559	Carex Flagellifera/Brown Sedge	#1	190	0	190	6.66	1,264.45	5.32
05560	Carex Flagellifera/Brown Sedge	#5	24	0	24	16.94	406.56	13.55
05561	Carex Frosty Curls	#1	0	0	0	5.89	0.00	4.71
05562	Carex Frosty Curls NLG	#5	0	0	0	16.94	0.00	13.55
05563	Carex Glauca	#1	1,026	0	1,026	5.89	6,038.01	4.71
05564	Carex Glauca	#5	85	0	85	16.94	1,439.90	13.55
05569	Carex Morrowii Variegata	#1	88	0	88	5.89	517.88	4.71
06556	Carex Pansa (praegracillis)	#5	32	0	32	14.23	455.36	11.38
06002	Carex Pansa (praegracillis)	#1	24	0	24	5.89	141.24	4.71
05587	Carex Tumulicola (Divulsa)	#1	3,017	0	3,017	5.89	17,755.05	4.71
05588	Carex Tumulicola (Divulsa) NLG	#5	0	0	0	12.32	0.00	9.86
00737	Carissa G Boxwood Beauty	#1	606	0	606	5.89	3,566.31	4.71
00738	Carissa G Boxwood Beauty	#5	2	0	2	16.94	33.88	13.55
00739	Carissa G Boxwood Beauty	#15	0	0	0	67.05	0.00	53.64
00740	Carissa G Green Carpet	#1	2,146	0	2,146	5.89	12,629.21	4.71
00741	Carissa G Green Carpet	#5	2,956	0	2,956	16.94	50,074.64	13.55
00746	Carissa G Tuttlei	#1	108	0	108	5.89	635.58	4.71
00747	Carissa G Tuttlei	#5	0	0	0	16.94	0.00	13.55
00748	Carissa G Tuttlei	#15	3	0	3	59.57	178.70	47.65
07931	Carissa G. Prostata	#15	0	0	0	59.57	0.00	47.65
07077	Carissa G. Prostata	#5	5	0	5	16.94	84.70	13.55
05992	Caryota Urens	24" BOX	1	0	1	224.22	224.22	179.38

05461	Caryota Urens	#15	60	0	60	81.90	4,913.70	65.52
00749	Cassia Artemisioides	#1	0	0	0	5.12	0.00	4.09
00750	Cassia Artemisioides	#5	3	0	3	12.87	38.62	10.30
06304	Cassia Leptophylla	48" BOX	1	0	1	1,232.00	1,232.00	985.60
00758	Cassia Leptophylla	36" BOX	13	0	13	523.60	6,806.80	418.88
00757	Cassia Leptophylla	24" BOX	12	0	12	154.00	1,848.00	123.20
06385	Cassia Phyllodenia	#5	16	0	16	15.59	249.36	12.47
07350	Ceanothus Diamond Height	#5	16	0	16	21.01	336.10	16.80
00780	Ceanothus g 'Yankee Point'	#5	39	0	39	16.94	660.66	13.55
00784	Ceanothus Julia Phelps	#5	20	0	20	16.94	338.80	13.55
06382	Cedrus D. 'electric Blue' NLG	24" BOX	6	0	6	227.92	1,367.52	182.34
00811	Cedrus Deodara	#1	0	0	0	5.89	0.00	4.71
00813	Cedrus Deodara	#15	36	0	36	67.05	2,413.62	53.64
00815	Cedrus Deodara	36" BOX	5	0	5	523.60	2,618.00	418.88
00816	Cedrus Deodara	48" BOX	16	0	16	1,232.00	19,712.00	985.60
00814	Cedrus Deodara	24" BOX	37	0	37	172.48	6,381.76	137.98
07775	Cedrus deodora	#5	21	0	21	13.55	284.59	10.84
07694	Celtis Sinensis	36" BOX	6	0	6	560.00	3,360.00	448.00
07778	Cercidium x 'Desert Museum'	24" TUB	82	0	82	246.40	20,204.80	197.12
07273	Cercidium x 'Desert Museum'	48" BOX	0	0	0	1,232.00	0.00	985.60
07201	Cercidium x 'Desert Museum'	24" BOX	34	0	34	246.40	8,377.60	197.12
08322	Cercidium x 'Desert Museum' Co	#15	0	0	0	111.71	0.00	89.36
08358	Cercidium x 'Desert Museum' Co	36" BOX	10	0	10	616.00	6,160.00	492.80
08526	Cercidium x 'Desert Museum' Mu	48" BOX	0	0	0	1,232.00	0.00	985.60
04344	Cercidium x 'Desert Museum' Mu	36" BOX	5	0	5	616.00	3,080.00	492.80
08069	Cercidium x 'Desert Museum' Mu	#15	164	0	164	111.71	18,319.62	89.36
08359	Cercidium x 'Desert museum' ST	36" BOX	4	0	4	616.00	2,464.00	492.80
08390	Cercidium x 'Desert museum' ST	48" BOX	5	0	5	1,232.00	6,160.00	985.60
07204	Cercidium x 'Desert Museum' St	#15	0	0	0	111.71	0.00	89.36
08549	Cercidium x 'Desert museum" ST	24" BOX	0	0	0	246.40	0.00	197.12
05246	Cercis Canadensis Multti	#15	51	0	51	67.05	3,419.30	53.64
07801	Cercis canadensis multi	24" TUB	10	0	10	197.12	1,971.20	157.70
00795	Cercis Canadensis Multi	24" BOX	1	0	1	197.12	197.12	157.70
05262	Cercis Canadensis Standard	36" BOX	1	0	1	523.60	523.60	418.88
04694	Cercis Canadensis Standard	48" BOX	0	0	0	1,108.80	0.00	887.04
04417	Cercis Forest Pansy	36" BOX	14	0	14	800.80	11,211.20	640.64
00800	Cercis Forest Pansy	#15	107	1	106	81.90	8,680.87	65.52
00801	Cercis Forest Pansy	24" BOX	100	0	100	227.92	22,792.00	182.34
00803	Cercis Occidentalis	#5	28	0	28	18.30	512.26	14.64
00804	Cercis Occidentalis	#15	2	0	2	67.05	134.09	53.64
00805	Cercis Occidentalis	24" BOX	0	0	0	197.12	0.00	157.70

05947	Cercis Occidentalis	36" BOX	0	0	0	523.60	0.00	418.88
05235	Cercis Occidentalis Multi	#15	65	0	65	74.53	4,844.13	59.62
00806	Cercis Occidentalis Multi	24" BOX	5	0	5	197.12	985.60	157.70
08528	Chamaerops Hum Var Cerifer	#15	3	0	3	88.06	264.17	70.44
07389	Chamaerops Hum Var Cerifer NLG	#5	0	0	0	40.66	0.00	32.52
07565	Chamaerops Hum Var Cerifer NLG	36" BOX	1	0	1	560.00	560.00	448.00
05007	Chamaerops Hum Var Cerifer NLG	24" BOX	7	0	7	215.60	1,509.20	172.48
06229	Chamaerops Humilis	#2	0	0	0	15.40	0.00	12.32
03103	Chamaerops Humilis	#1	390	0	390	10.40	4,054.05	8.32
03104	Chamaerops Humilis	#5	621	0	621	26.43	16,410.55	21.14
03105	Chamaerops Humilis	#15	0	0	0	81.90	0.00	65.52
03106	Chamaerops Humilis	24" BOX	0	0	0	227.92	0.00	182.34
03107	Chamaerops Humilis	36" BOX	9	0	9	616.00	5,544.00	492.80
03108	Chamaerops Humilis	48" BOX	0	0	0	1,232.00	0.00	985.60
06698	Chamaerops Humilis	B&B	15	0	15	4,312.00	64,680.00	3,449.60
07593	Chamaerops Humilis Multi	14" BOX	420	0	420	67.76	28,459.20	54.21
03098	Chamaerops Humilis Multi	48" BOX	0	0	0	1,232.00	0.00	985.60
07794	Chamaerops humilis Multi	24" TUB	97	0	97	227.92	22,108.24	182.34
05879	Chamaerops Humilis Multi	24" BOX	0	0	0	227.92	0.00	182.34
05352	Chamaerops Humilis Multi	#15	423	0	423	81.90	34,641.59	65.52
09057	Chilopsis Linearis Burgandy	24"	5	0	5	180.00	900.00	144.00
00835	Chilopsis Linearis Burgandy	#5	0	0	0	27.10	0.00	21.68
06012	Chilopsis Linearis Multi	48" BOX	1	0	1	1,232.00	1,232.00	985.60
00836	Chilopsis Linearis Multi	24" BOX	4	0	4	160.16	640.64	128.13
00837	Chilopsis Linearis Multi	36" BOX	0	0	0	511.28	0.00	409.02
08494	Chilopsis Linearis Multi	#15	1	0	1	81.90	81.90	65.52
06896	Chilopsis Linearis Standard	#1	0	0	0	6.66	0.00	5.32
00838	Chilopsis Linearis Standard	#15	1	0	1	67.05	67.05	53.64
00839	Chilopsis Linearis Standard	24" BOX	6	0	6	172.48	1,034.88	137.98
00840	Chilopsis Linearis Standard	36" BOX	2	0	2	511.28	1,022.56	409.02
01882	Chilopsis Linearis Standard	48" BOX	0	0	0	1,232.00	0.00	985.60
06201	Chilopsis Linearis Standard	#5	0	0	0	27.10	0.00	21.68
05236	Chionanthus Retusus	24" BOX	148	32	116	203.28	23,580.48	162.62
05945	Chionanthus Retusus	36" BOX	7	0	7	554.40	3,880.80	443.52
00876	Chitalpa Pink Dawn	24" BOX	19	0	19	184.80	3,511.20	147.84
00877	Chitalpa Pink Dawn	36" BOX	2	0	2	511.28	1,022.56	409.02
04355	Chitalpa Pink Dawn	48" BOX	4	0	4	1,232.00	4,928.00	985.60
00848	Chlorophytum Comosum	#5	2	0	2	24.39	48.79	19.52
08483	Chlorophytum Comosum	#1	39	0	39	8.75	341.06	7.00
00872	Choisya Ternata	#5	0	0	0	27.10	0.00	21.68
09253	Chondropetalum Elephantinum	#5	6	0	6	24.20	145.20	19.36

09321	Chondropetalum Elephantinum	#1	59	0	59	10.00	590.00	8.00
09325	Chondropetalum Elephantinum	#15	4	0	4	75.00	300.00	60.00
05589	Chondropetalum Tectorum	#1	124	0	124	7.43	920.70	5.94
05590	Chondropetalum Tectorum	#5	72	13	59	18.97	1,119.41	15.18
06632	Chondropetalum Tectorum	#15	3	0	3	67.05	201.14	53.64
00892	Chrysanthemum Marg Pink	#5	70	0	70	11.52	806.33	9.22
00907	Cinnamomum Camphora Multi	#5	75	0	75	15.59	1,168.88	12.47
00908	Cinnamomum Camphora Multi	#15	58	0	58	59.57	3,454.77	47.65
00909	Cinnamomum Camphora Multi	24" BOX	5	0	5	154.00	770.00	123.20
00910	Cinnamomum Camphora Multi	36" BOX	7	0	7	523.60	3,665.20	418.88
00913	Cinnamomum Camphora Standard	#15	19	0	19	59.57	1,131.74	47.65
00914	Cinnamomum Camphora Standard	24" BOX	43	0	43	154.00	6,622.00	123.20
00915	Cinnamomum Camphora Standard	36" BOX	16	0	16	523.60	8,377.60	418.88
00916	Cinnamomum Camphora Standard	48" BOX	3	0	3	1,232.00	3,696.00	985.60
00928	Cistus Purpureus	#5	58	0	58	11.46	664.56	9.17
00935	Cistus X Hybridus	#1	5	0	5	5.12	25.58	4.09
00936	Cistus X Hybridus	#5	0	0	0	14.23	0.00	11.38
04639	Citrus Dwarf Or Shrub	24" BOX	3	0	3	369.60	1,108.80	295.68
06819	Clivia Belgian Hybrid Yellow	#5	91	0	91	19.65	1,788.15	15.72
07806	Clivia Belgian Hybrid Yellow	#3	0	0	0	19.65	0.00	15.72
07457	Clivia Hyb. Variegata	#5	56	0	56	184.80	10,348.80	147.84
07927	Clivia miniata	#5	57	0	57	19.65	1,120.05	15.72
07929	Clivia miniata	#7	0	0	0	16.93	0.00	13.55
07898	Clivia miniata	#1	1	0	1	13.48	13.48	10.78
05377	Coleonema P Compacta	#1	267	0	267	5.89	1,571.30	4.71
08083	Coleonema p. Monterey Rose	#1	0	0	0	10.07	0.00	8.05
01001	Coleonema Pulchrum	#1	404	0	404	5.12	2,066.46	4.09
01002	Coleonema Pulchrum	#5	9	0	9	12.20	109.77	9.76
01003	Coleonema Pulchrum	#15	0	0	0	59.57	0.00	47.65
01004	Coleonema Sunset Gold	#1	743	0	743	5.89	4,372.56	4.71
01005	Coleonema Sunset Gold	#5	4	0	4	12.87	51.50	10.30
01012	Convolvulus Mauritanicus (Sab)	#1	62	0	62	4.46	276.21	3.56
01013	Convolvulus Mauritanicus (Sab)	#5	283	0	283	10.84	3,068.29	8.67
05664	Coprosma Marble Queen	#1	343	0	343	6.66	2,282.67	5.32
05665	Coprosma Marble Queen	#5	224	0	224	12.87	2,883.78	10.30
06776	Coprosma Marble Queen	#15	0	0	0	59.57	0.00	47.65
09273	Coprosma Pacific Sunrise	#1	124	0	124	7.50	930.00	6.00
06512	Coprosma Pink Splendor	#5	10	0	10	12.20	121.97	9.76
08082	Coprosma purple plum	#1	0	0	0	7.43	0.00	5.94
07916	Coprosma r. County Park Red	#5	460	0	460	18.97	8,727.58	15.18
01022	Coprosma Repens Variegata	#5	2	0	2	11.52	23.04	9.22

08529	Coprosma Scarlett O'hara	#1	772	0	772	8.75	6,751.14	7.00
08709	Coprosma Scarlett O'hara	#5	358	0	358	18.97	6,792.33	15.18
07138	Coprosma Taupata Gold	#1	173	0	173	5.89	1,018.11	4.71
07267	Coprosma Taupata Gold	#5	0	0	0	14.23	0.00	11.38
07307	Coprosma Tequila Sunrise	#5	1	0	1	18.97	18.97	15.18
08316	Coprosma Tequila Sunrise	#1	7	0	7	8.75	61.22	7.00
06092	Cordyline g Soledad	#5	2	0	2	19.65	39.30	15.72
07015	Cordyline g Soledad	#15	17	0	17	89.38	1,519.38	71.50
09308	Cordyline Pink Diamond	#5	13	0	13	22.18	288.29	17.74
06064	Cordyline Red Sensation	#5	169	0	169	14.23	2,404.87	11.38
06836	Cordyline Red Sensation	#15	0	0	0	59.57	0.00	47.65
06501	Cordyline Red Sensation	24" TUB	4	0	4	197.12	788.48	157.70
06837	Cordyline Red Star	#15	0	-3	3	59.57	178.70	47.65
06057	Cordyline Red Star	#1	0	0	0	5.89	0.00	4.71
06058	Cordyline Red Star	#5	21	0	21	14.23	298.83	11.38
07420	Cordyline Ruby	#5	0	0	0	19.65	0.00	15.72
08373	Cordyline Torbay Dazzler	#15	12	0	12	115.12	1,381.38	92.09
07681	Cordyline Torbay Dazzler	#5	4	0	4	22.18	88.70	17.74
05593	Cortaderia Sellowiana	#1	39	0	39	5.89	229.52	4.71
05594	Cortaderia Sellowiana	#5	331	0	331	12.20	4,037.21	9.76
08425	Cotinus Coggygria Purpurea	36" BOX	5	0	5	560.00	2,800.00	448.00
07035	Cotinus Coggygria Purpurea	16" BOX	0	0	0	92.40	0.00	73.92
05858	Cotinus Coggygria Purpurea	24" BOX	0	0	0	197.12	0.00	157.70
05213	Cotinus Coggygria Purpurea	#15	21	0	21	67.05	1,407.95	53.64
01083	Cotinus Coggygria Purpurea	#5	0	0	0	24.39	0.00	19.52
01050	Cotoneaster Dammer Lowfast	#1	182	0	182	5.12	930.93	4.09
01051	Cotoneaster Dammer Lowfast	#5	477	0	477	10.16	4,848.23	8.13
01057	Cotoneaster Lacteus (Parneyi)	#5	1	0	1	10.16	10.16	8.13
01070	Crassula ovata	#5	3	0	3	12.87	38.62	10.30
01115	Cupaniopsis Anacardioides Mult	24" BOX	22	0	22	154.00	3,388.00	123.20
01116	Cupaniopsis Anacardioides Mult	36" BOX	6	0	6	523.60	3,141.60	418.88
01117	Cupaniopsis Anacardioides Mult	48" BOX	3	0	3	1,232.00	3,696.00	985.60
01118	Cupaniopsis anacardioides Std	#1	0	0	0	5.89	0.00	4.71
01119	Cupaniopsis anacardioides Std	#5	15	0	15	15.59	233.78	12.47
01120	Cupaniopsis anacardioides Std	#15	56	0	56	59.57	3,335.64	47.65
01121	Cupaniopsis anacardioides Std	24" BOX	0	0	0	154.00	0.00	123.20
01122	Cupaniopsis anacardioides Std	36" BOX	1	0	1	523.60	523.60	418.88
01123	Cupaniopsis anacardioides Std	48" BOX	1	0	1	1,232.00	1,232.00	985.60
01100	Cuphea Hyssopifolia	#1	364	0	364	5.89	2,142.14	4.71
01101	Cuphea Hyssopifolia	#5	359	0	359	11.52	4,135.32	9.22
01133	Cupressus sempervirens	#1	46	0	46	5.89	270.71	4.71

01134	Cupressus Sempervirens	#5	45	0	45	15.59	701.33	12.47
06571	Cupressus Sempervirens	16" BOX	0	0	0	55.44	0.00	44.35
01136	Cupressus sempervirens	24" BOX	81	0	81	154.00	12,474.00	123.20
01137	Cupressus Sempervirens	36" BOX	1	0	1	523.60	523.60	418.88
01138	Cupressus Sempervirens	48" BOX	16	0	16	1,232.00	19,712.00	985.60
01135	Cupressus sempervirens	#15	87	0	87	59.57	5,182.16	47.65
03066	Cycas Revoluta Single	#5	1	0	1	54.21	54.21	43.37
03069	Cycas Revoluta Single	#15	0	0	0	111.71	0.00	89.36
06909	Cycas Revoluta Single	#1	10	0	10	11.17	111.65	8.93
05602	Cyperus Alternifolius	#1	46	0	46	5.89	270.71	4.71
05607	Cyperus Papyrus	#5	58	0	58	16.94	982.52	13.55
01483	Cyrtomium Falcatum	#5	15	0	15	16.94	254.10	13.55
05663	Dasyllirion acrotrichum	#5	241	0	241	14.91	3,592.59	11.93
05525	Dasyllirion acrotrichum	#1	0	0	0	5.89	0.00	4.71
04664	Dasyllirion acrotrichum	#15	0	0	0	52.09	0.00	41.67
09183	Dasyllirion acrotrichum	#24 TUB	11	0	11	246.40	2,710.40	197.12
03142	Dasyllirion Longissima	#5	46	0	46	14.91	685.72	11.93
04331	Dasyllirion Longissima	#15	228	0	228	74.53	16,991.70	59.62
06303	Dasyllirion Longissima	#7	0	0	0	43.12	0.00	34.50
07351	Dasyllirion Longissima	24" BOX	4	0	4	246.40	985.60	197.12
01155	Dasyllirion Wheeleri	#5	31	0	31	14.91	462.12	11.93
05473	Dasyllirion Wheeleri	#15	122	0	122	52.09	6,354.37	41.67
07312	Dasyllirion Wheeleri	16" BOX	0	0	0	61.60	0.00	49.28
07677	Dasyllirion Wheeleri	24" TUB	2	0	2	246.40	492.80	197.12
08398	Dianella Caerulea Becca	#5	406	0	406	17.86	7,252.78	14.29
07515	Dianella Caerulea Casa Blue	#5	820	0	820	17.86	14,648.48	14.29
07249	Dianella caerulea Casa Blue	#1	360	0	360	6.66	2,395.80	5.32
08456	Dianella Revoluta Little Rev	#5	390	0	390	17.86	6,966.96	14.29
08383	Dianella Revouta Little Rev	#1	424	0	424	5.89	2,495.24	4.71
07899	Dianella 'Streetscape'	#1	24	0	24	5.89	141.24	4.71
07808	Dianella 'Streetscape'	#5	280	0	280	17.86	5,001.92	14.29
08943	Dianella T. Wyeena	#5	0	0	0	27.10	0.00	21.68
08899	Dianella T. Wyeena	#1	0	0	0	10.29	0.00	8.23
05745	Dianella Tasmanica Green	#1	140	0	140	5.89	823.90	4.71
05746	Dianella Tasmanica Green	#5	0	0	0	14.91	0.00	11.93
04935	Dianella Varigated White	#1	194	0	194	5.89	1,141.69	4.71
06123	Dianella Varigated White	#5	1,653	0	1,653	17.86	29,529.19	14.29
07718	Dianella Varigated White	4" CUP	0	0	0	8.96	0.00	7.17
07247	Dianella Yellow Stripe	#5	0	0	0	27.10	0.00	21.68
07347	Dianella Yellow Stripe	#1	275	0	275	5.89	1,618.38	4.71
01486	Dicksonia Antartica	#5	42	0	42	16.94	711.48	13.55

01487	Dicksonia Antartica	#15	35	0	35	74.53	2,608.38	59.62
01488	Dicksonia Antartica	24" BOX	8	0	8	227.92	1,823.36	182.34
01170	Dietes Bicolor	#15	15	0	15	52.09	781.28	41.67
01168	Dietes Bicolor	#1	140	0	140	4.46	623.70	3.56
01169	Dietes Bicolor	#5	69	0	69	10.16	701.32	8.13
01171	Dietes Dwarf Miya	#1	0	0	0	5.89	0.00	4.71
01172	Dietes Dwarf Miya	#5	0	0	0	12.20	0.00	9.76
01173	Dietes Lemon Drops	#1	120	0	120	5.89	706.20	4.71
01174	Dietes Lemon Drops	#5	247	0	247	12.87	3,179.88	10.30
01175	Dietes Orange Drop	#1	0	0	0	5.89	0.00	4.71
01176	Dietes Orange Drop	#5	59	0	59	12.87	759.57	10.30
01177	Dietes Vegeta (irridiodes)	#1	576	0	576	4.46	2,566.08	3.56
01179	Dietes Vegeta (irridioides)	#15	0	0	0	52.09	0.00	41.67
01178	Dietes Vegeta (irridioides)	#5	961	2	959	10.16	9,747.28	8.13
07339	Dietes Vegeta Var Golden	14" BOX	0	0	0	73.92	0.00	59.14
07749	Dietes Vegeta Var Golden	#5	158	0	158	27.10	4,282.43	21.68
06176	Dietes Vegeta Variegata	#5	818	0	818	27.10	22,171.07	21.68
01184	Dipladenia Red Riding Hood	#5	4	0	4	14.23	56.92	11.38
01191	Dipladenia Splendens	#5	4	0	4	14.23	56.92	11.38
01210	Dodonea Viscosa Purpurea	#5	16	0	16	12.87	205.98	10.30
01211	Dodonea Viscosa Purpurea	#15	4	0	4	67.05	268.18	53.64
09323	Dodonea Viscosa Purpurea	24" BOX	1	0	1	154.00	154.00	123.20
04509	Dracaena Draco	#15	9	0	9	81.90	737.06	65.52
05345	Dryopteris	#1	0	0	0	6.66	0.00	5.32
08034	Duranta Golden Edge	#5	37	0	37	16.63	615.38	13.31
06762	Duranta Repens STK	#15	1	0	1	67.05	67.05	53.64
07040	Duranta Repens Varigated	#15	25	0	25	67.05	1,676.13	53.64
01221	Duranta Repens Varigated	#1	0	0	0	5.12	0.00	4.09
05430	Duranta Repens Varigated	#5	42	0	42	12.20	512.27	9.76
07200	Duranta Repens White	#15	0	0	0	67.05	0.00	53.64
06510	Duranta Repens White	#5	2	0	2	12.20	24.39	9.76
08474	Duranta Repens White STK	#5	0	0	0	46.82	0.00	37.45
03215	Duranta Sapphire Showers	#1	25	0	25	5.12	127.88	4.09
05788	Duranta Sapphire Showers	#15	0	0	0	67.05	0.00	53.64
04869	Duranta Sapphire Showers	#5	4	0	4	11.52	46.08	9.22
01227	Echium Fastuosum (Candicans)	#1	37	0	37	4.46	164.84	3.56
01228	Echium Fastuosum (Candicans)	#5	79	0	79	12.20	963.56	9.76
01229	Echium Fastuosum (Candicans)	#15	15	0	15	67.05	1,005.68	53.64
07918	Echium fastuosum vaigated	#5	0	0	0	12.20	0.00	9.76

01235	Elaeagnus Pungens Fruitld	#1	108	0	108	4.46	481.14	3.56
01236	Elaeagnus Pungens Fruitld	#5	166	0	166	12.20	2,024.70	9.76
01237	Elaeagnus Pungens Fruitld	#15	7	0	7	52.09	364.60	41.67
01233	Elaeocarpus Decipiens	#15	54	0	54	67.05	3,620.43	53.64
01234	Elaeocarpus Decipiens	24" BOX	197	0	197	197.12	38,832.64	157.70
01232	Elaeocarpus Decipiens	#5	26	0	26	18.97	493.30	15.18
01231	Elaeocarpus Decipiens NFS	#1	232	0	232	7.43	1,722.60	5.94
09044	Elymus Cond. Prince Canyon	#1	67	0	67	8.25	552.75	6.60
08415	Elymus Cond. Prince Canyon	#5	27	0	27	24.64	665.28	19.71
05617	Elymus Condensatus	#1	0	0	0	6.66	0.00	5.32
05618	Elymus Condensatus	#5	0	0	0	14.91	0.00	11.93
09212	Elymus Triticoides	#5	265	0	265	15.95	4,226.75	12.76
05621	Equisetum Hymenale	#1	9	0	9	5.12	46.04	4.09
05622	Equisetum Hymenale	#5	10	0	10	18.97	189.73	15.18
06841	Erigeron Karvinskianus	#5	6	0	6	10.16	60.98	8.13
01259	Erigeron Karvinskianus	#1	56	20	36	3.69	132.66	2.95
05457	Erigeron Spindrift	#1	0	0	0	5.89	0.00	4.71
01262	Eriobotrya D Coppertone Multi	#15	101	0	101	96.86	9,782.36	77.48
01272	Eriobotrya Deflexa Multi	#15	11	0	11	81.90	900.85	65.52
01273	Eriobotrya Deflexa Multi	24" BOX	23	0	23	172.48	3,967.04	137.98
01274	Eriobotrya Deflexa Multi	36" BOX	0	0	0	523.60	0.00	418.88
01276	Eriobotrya Deflexa Std.	#5	25	0	25	14.91	372.68	11.93
01277	Eriobotrya Deflexa Std.	#15	48	0	48	81.90	3,930.96	65.52
01278	Eriobotrya Deflexa Std.	24" BOX	8	0	8	172.48	1,379.84	137.98
01297	Erythrina Coralloides	48" BOX	1	0	1	1,232.00	1,232.00	985.60
01311	Escallonia Exon Fradesii	#5	28	0	28	10.16	284.59	8.13
01380	Eucalyptus Polyanthemos	#15	0	-2	2	59.57	119.13	47.65
07238	Eucomis Reuben	#1	181	0	181	7.43	1,343.93	5.94
07239	Eucomis Sparkling Ruby	#1	0	0	0	7.43	0.00	5.94
07240	Eucomis Tugela Jewel	#1	0	0	0	7.43	0.00	5.94
01406	Euonymus Aureo Marginata	#5	7	-10	17	10.84	184.31	8.67
01407	Euonymus Aureo Marginata	#15	0	0	0	52.09	0.00	41.67
01405	Euonymus Aureo Marginata	#1	961	0	961	4.46	4,281.26	3.56
06654	Euonymus J. Green Spire	#5	22	0	22	12.87	283.23	10.30
09171	Euonymus J. Green Spire	#15	0	0	0	52.09	0.00	41.67
05833	Euonymus J. Green Spire	#1	517	0	517	5.12	2,644.46	4.09
01423	Euonymus Microphylla	#5	55	0	55	10.84	596.31	8.67
01427	Euonymus Silver King	#5	5	0	5	11.52	57.60	9.22
01433	Euonymus Silver Queen	#5	40	0	40	10.84	433.68	8.67
06239	Euphorbia Dwarf Apache	#1	87	0	87	5.89	512.00	4.71

09289	Euphorbia Tiru. Sticks on Fire	#15	1	0	1	98.00	98.00	78.40
01438	Euryops Pectinatus Viridis	#5	242	0	242	10.16	2,459.69	8.13
01448	Fatsia Japonica	#15	5	0	5	52.09	260.43	41.67
01452	Feijoa Sellowiana	24" BOX	7	0	7	172.48	1,207.36	137.98
01453	Feijoa Sellowiana	36" BOX	1	0	1	492.80	492.80	394.24
01449	Feijoa Sellowiana	#1	0	0	0	5.12	0.00	4.09
01450	Feijoa Sellowiana	#5	0	0	0	12.87	0.00	10.30
01451	Feijoa Sellowiana	#15	94	0	94	59.57	5,599.11	47.65
07949	Feijoa Sellowiana	24" TUB	11	0	11	172.48	1,897.28	137.98
01458	Felicia Amelloides	#5	11	0	11	12.20	134.17	9.76
05841	Festuca Elijah Blue	#1	122	25	97	5.12	496.16	4.09
06076	Festuca Green	#1	510	0	510	5.12	2,608.65	4.09
08085	Festuca Green	#5	0	0	0	12.20	0.00	9.76
05629	Festuca Ovina Glauca	#1	1,094	0	1,094	4.46	4,873.77	3.56
01538	Ficus Benjamina Variegata	#5	0	0	0	19.65	0.00	15.72
01553	Ficus Green Gem Standard	24" BOX	1	0	1	172.48	172.48	137.98
01554	Ficus Green Gem Standard	36" BOX	5	0	5	523.60	2,618.00	418.88
01561	Ficus Nitida Column	#15	35	0	35	67.05	2,346.58	53.64
07459	Ficus Nitida Column	#7	59	0	59	51.52	3,039.68	41.22
07630	Ficus Nitida Column	24" TUB	60	0	60	172.48	10,348.80	137.98
06964	Ficus Nitida Column	16" BOX	0	0	0	73.92	0.00	59.14
01559	Ficus Nitida Column NFS	#1	410	0	410	7.43	3,044.25	5.94
01627	Fraxinus Oxycarpa Raywood	24" BOX	37	0	37	154.00	5,698.00	123.20
01628	Fraxinus Oxycarpa Raywood	36" BOX	12	0	12	523.60	6,283.20	418.88
04690	Fraxinus Rio Grande Fantex	48" BOX	2	0	2	1,108.80	2,217.60	887.04
01632	Fraxinus Rio Grande Fantex	24" BOX	0	0	0	172.48	0.00	137.98
08318	Fraxinus Rio Grande Fantex	24" BOX	0	0	0	154.00	0.00	123.20
04918	Fraxinus Udehi O C	24" BOX	8	0	8	154.00	1,232.00	123.20
01642	Fraxinus Velutina	#15	106	0	106	59.57	6,313.89	47.65
01643	Fraxinus Velutina	24" BOX	28	0	28	154.00	4,312.00	123.20
08228	Fruit Apple Fuji	#15	33	1	32	101.59	3,250.72	81.27
08280	Fruit Apple Fuji	#5	0	0	0	43.12	0.00	34.50
08253	Fruit Apple Granny Smith	#15	46	0	46	101.59	4,672.91	81.27
09295	Fruit Apple Granny Smith	24" BOX	22	0	22	215.00	4,730.00	172.00
08999	Fruit Apple Granny Smith	#5	110	0	110	43.12	4,743.20	34.50
09109	Fruit Apple Granny Smith	#7	484	0	484	75.00	36,300.00	60.00
08987	Fruit Apple Gravenstein	#5	0	0	0	43.12	0.00	34.50
09110	Fruit Apple Honey Crisp	#7	907	0	907	75.00	68,025.00	60.00
08947	Fruit Apple Pristine	#15	67	0	67	101.59	6,806.20	81.27
08231	Fruit Apple Spartan	#15	27	0	27	101.59	2,742.80	81.27
08982	Fruit Apple Sweet Sixteen	#5	0	0	0	43.12	0.00	34.50

08221	Fruit Apple Tree 2 in 1	#15	7	0	7	101.59	711.10	81.27
08222	Fruit Apple Tree Combo Spl	24" TUB	0	0	0	215.60	0.00	172.48
08220	Fruit Apple Tree Combo Spl	#15	141	0	141	101.59	14,323.49	81.27
08756	Fruit Apple Winesap	#5	0	0	0	43.12	0.00	34.50
08230	Fruit Apple Yellow Delicious	#15	14	0	14	101.59	1,422.19	81.27
08512	Fruit Apricot Moorpark	#5	4	0	4	43.12	172.48	34.50
05507	Fruit Assorted	#15	100	3	97	101.59	9,853.75	81.27
05509	Fruit Assorted	#5	100	0	100	47.43	4,743.20	37.95
06207	Fruit Assorted NLG	36" BOX	0	0	0	616.00	0.00	492.80
06408	Fruit Blueberry Assorted	#5	2	0	2	28.46	56.92	22.77
06417	Fruit Blueberry Assorted	#2	0	0	0	20.70	0.00	16.56
09320	Fruit Carica Papaya	#1	60	0	60	12.00	720.00	9.60
08524	Fruit Cherry 2 in 1	#15	932	0	932	101.59	94,677.22	81.27
09175	Fruit Cherry 2 in 1	#5	0	0	0	43.12	0.00	34.50
09310	Fruit Cherry Black Tartarian	#5	5	0	5	43.12	215.60	34.50
08700	Fruit Nectarine Goldmine	#15	18	0	18	101.59	1,828.53	81.27
08701	Fruit Nectarine Silverlode	#15	20	0	20	101.59	2,031.70	81.27
08699	Fruit Nectarine Snow Queen	#15	22	0	22	101.59	2,234.87	81.27
08489	Fruit Nectarine Snow Queen	#5	0	0	0	43.12	0.00	34.50
08964	Fruit Nectarine Yumm Yumm	#5	0	0	0	43.12	0.00	34.50
09073	Fruit Nectarine Yumm Yumm	#15	39	0	39	101.59	3,961.82	81.27
08244	Fruit Pear Bosc	#15	50	0	50	101.59	5,079.25	81.27
09296	Fruit Pear Bosc	24" BOX	11	0	11	215.00	2,365.00	172.00
09173	Fruit Pear Combination 2 in 1	#15	26	0	26	101.59	2,641.21	81.27
09172	Fruit Plum Combination 2 in 1	#15	52	0	52	101.59	5,282.42	81.27
08246	Fruit Plum Friar	#15	0	0	0	101.59	0.00	81.27
08765	Fruit Walnut English Carpatian	24" BOX	3	0	3	215.60	646.80	172.48
08283	Fruit Walnut English Carpatian	#5	0	0	0	43.12	0.00	34.50
08242	Fruit Walnut English Manregion	#15	53	0	53	101.59	5,384.01	81.27
01732	Galvesia Speciosa	#5	173	0	173	12.87	2,227.20	10.30
06373	Gardenia R. Frost Proof	#5	5	0	5	15.59	77.93	12.47
01743	Gardenia Veitchii	#1	413	0	413	5.89	2,430.51	4.71
01745	Gardenia Veitchii	#5	47	0	47	15.59	732.50	12.47
01757	Gazania Mixed	#1	99	0	99	5.89	582.62	4.71
01758	Geijera Parvifolia	#1	0	0	0	14.91	0.00	11.92
01759	Geijera Parvifolia	#5	0	0	0	32.53	0.00	26.02
01760	Geijera Parvifolia	#15	200	0	200	111.71	22,341.00	89.36
01761	Geijera Parvifolia	24" BOX	47	0	47	200.48	9,422.56	160.38
01762	Geijera Parvifolia	36" BOX	12	0	12	523.60	6,283.20	418.88
01763	Geijera Parvifolia	48" BOX	1	0	1	1,232.00	1,232.00	985.60
01778	Geranium Assorted	#1	257	0	257	5.89	1,512.45	4.71

05146	Geranium Assorted	#2	0	0	0	4.31	0.00	3.45
06240	Geranium Biokovo	#1	0	0	0	5.89	0.00	4.71
01771	Geranium Essens Mix	#1	16	0	16	5.89	94.16	4.71
01772	Geranium Essens Mix	#5	6	0	6	11.52	69.11	9.22
05957	Geranium Sidoides	#1	15	0	15	4.46	66.83	3.56
01782	Ginkgo Autumn Gold	#15	121	0	121	111.71	13,516.31	89.36
01783	Ginkgo Autumn Gold	24" BOX	67	0	67	227.92	15,270.64	182.34
01786	Ginkgo Biloba	#5	81	0	81	19.65	1,591.65	15.72
01787	Ginkgo Biloba	#15	101	0	101	74.53	7,527.03	59.62
01788	Ginkgo Biloba	24" BOX	55	0	55	197.12	10,841.60	157.70
01789	Ginkgo Biloba	36" BOX	13	0	13	523.60	6,806.80	418.88
01785	Ginkgo Biloba	#1	0	0	0	5.89	0.00	4.71
05518	Ginkgo Biloba	48" BOX	4	0	4	1,232.00	4,928.00	985.60
05592	Ginkgo Biloba Wildover	#5	0	0	0	32.53	0.00	26.02
07257	Ginkgo Biloba Magyar "Male"	#15	110	0	110	111.71	12,287.55	89.36
07114	Ginkgo Biloba Saratoga	60" BOX	1	0	1	2,217.60	2,217.60	1,774.08
04503	Ginkgo Biloba Saratoga	#1	0	0	0	14.91	0.00	11.92
01793	Gleditsia Shademaster	36" BOX	2	0	2	616.00	1,232.00	492.80
06450	Grevillea Canberra Pink	#15	8	0	8	23.82	190.52	19.05
01801	Grevillea Canberra Pink	#1	0	0	0	5.89	0.00	4.71
09108	Grevillea Lanig. Mt. Tamborith	#5	6	0	6	16.50	99.00	13.20
01814	Grewia Caffra Occidentalis	#5	97	0	97	14.56	1,412.51	11.65
01815	Grewia Caffra Occidentalis	#15	0	0	0	59.57	0.00	47.65
06796	Guava mexicana	#15	11	0	11	67.05	737.50	53.64
06792	Hebe Autumn Glory	#1	27	0	27	5.12	138.11	4.09
06141	Hebe Varigated	#5	14	0	14	11.52	161.27	9.22
05423	Hebe Varigated	#1	8	0	8	5.12	40.92	4.09
01842	Hedera Helix Hahnii NLG	#1	134	0	134	4.46	596.97	3.56
01958	Hedychium Coronarium	#1	71	0	71	6.66	472.51	5.32
09120	Heliotropium Arborescens	#3	30	10	20	17.60	352.00	14.08
04651	Heliotropium Arborescens	#5	14	0	14	12.87	180.24	10.30
01848	Heliotropium Arborescens	#1	87	0	87	5.89	512.00	4.71
01849	Heliotropium Atlantis	#1	0	0	0	5.89	0.00	4.71
05813	Hemerocallis Apple Tart Red	#1	0	0	0	6.33	0.00	5.06
05811	Hemerocallis Apple Tart Red	#5	459	0	459	15.59	7,153.52	12.47
06260	Hemerocallis Aztec Evergreen	#5	496	0	496	12.87	6,385.50	10.30
01858	Hemerocallis Bitsy	#1	290	0	290	6.33	1,834.25	5.06
01862	Hemerocallis Burgundy	#5	0	0	0	11.52	0.00	9.22
06273	Hemerocallis burgundy Velvet	#1	420	0	420	6.33	2,656.50	5.06
04769	Hemerocallis Dance Party NLG	#1	460	0	460	6.33	2,909.50	5.06
04902	Hemerocallis Darius Orange NLG	#5	0	0	0	16.94	0.00	13.55

04993	Hemerocallis Golden Wave	#5	276	0	276	16.26	4,488.31	13.01
01885	Hemerocallis Hybrid Mix	#1	46	0	46	5.12	235.29	4.09
01886	Hemerocallis Hybrid Mix	#5	11	0	11	15.59	171.44	12.47
05168	Hemerocallis Jungle Princess	#1	0	0	0	6.33	0.00	5.06
07237	Hemerocallis Lemon Yellow	#1	80	0	80	5.89	470.80	4.71
06155	Hemerocallis Little Bobo	#5	328	0	328	14.23	4,667.44	11.38
01894	Hemerocallis Little Bobo	#1	1,194	0	1,194	6.66	7,946.07	5.32
07890	Hemerocallis Little Cutie	#1	0	0	0	6.66	0.00	5.32
01912	Hemerocallis Orange	#5	84	6	78	11.52	898.48	9.22
07324	Hemerocallis Red Bull	#5	239	0	239	14.23	3,400.97	11.38
04984	Hemerocallis Strawberry Puddin	#5	200	0	200	16.26	3,252.40	13.01
04619	Hemerocallis Sunburst	#1	1,000	0	1,000	5.89	5,885.00	4.71
07532	Hemerocallis Sunburst	#5	262	0	262	16.26	4,260.64	13.01
05085	Hemerocallis Tahiti Beach NLG	#1	0	0	0	5.89	0.00	4.71
05084	Hemerocallis Tiger Time	#1	370	0	370	5.89	2,177.45	4.71
04992	Hemerocallis Tiger Time	#5	248	0	248	16.26	4,032.98	13.01
04558	Hemerocallis Tiny Pumpkin	#1	0	0	0	6.33	0.00	5.06
01938	Hemerocallis Tootsie Rose	#1	724	0	724	5.89	4,260.74	4.71
01939	Hemerocallis Tootsie Rose	#5	225	0	225	15.59	3,506.63	12.47
05115	Hemerocallis Velvet Cake	#1	0	0	0	5.89	0.00	4.71
05993	Hemerocallis White	#1	40	0	40	4.46	178.20	3.56
07230	Hemerocallis Williams	#1	0	0	0	5.89	0.00	4.71
01946	Hemerocallis Yellow	#1	337	0	337	4.46	1,501.34	3.56
01947	Hemerocallis Yellow	#5	0	0	0	11.52	0.00	9.22
01949	Hesperaloe Parviflora	#1	509	0	509	6.66	3,387.40	5.32
01950	Hesperaloe Parviflora	#5	40	0	40	15.59	623.40	12.47
01952	Heteromeles Arbutifolia	#5	0	0	0	16.94	0.00	13.55
01953	Heteromeles Arbutifolia	#15	27	0	27	74.53	2,012.18	59.62
01954	Heteromeles Arbutifolia	24" BOX	0	0	0	227.92	0.00	182.34
01951	Heteromeles Arbutifolia	#1	0	0	0	6.66	0.00	5.32
09040	Heteromeles Arbutifolia	36" BOX	5	0	5	650.00	3,250.00	520.00
07807	Heteromeles Arbutifolia	24" TUB	22	0	22	227.92	5,014.24	182.34
01957	Heuchera Sanguinea Coral Bells	#1	4	0	4	4.46	17.82	3.56
01977	Hibiscus Brilliant	#1	300	0	300	4.46	1,336.50	3.56
01986	Hibiscus Butterfly	#15	1	0	1	59.57	59.57	47.65
01988	Hibiscus California Gold	#5	0	0	0	12.20	0.00	9.76
02022	Hibiscus Kona	#5	339	0	339	12.20	4,134.78	9.76
02023	Hibiscus Kona	#15	3	0	3	59.57	178.70	47.65
02027	Hibiscus Lipstick	#1	0	0	0	4.46	0.00	3.56
02028	Hibiscus Lipstick	#5	298	0	298	12.20	3,634.71	9.76
02030	Hibiscus Lipstick	#15	1	0	1	59.57	59.57	47.65

09030	Hydrangea M. Sist. Ther. White	#3	51	0	51	13.55	691.15	10.84
02084	Hymenoporum Flavum	#5	4	0	4	20.33	81.31	16.26
09326	Ilex Crenata "Sky Pencil"	#5	8	0	8	75.00	600.00	60.00
02107	Ilex Vomitoria Nana	#5	0	0	0	15.59	0.00	12.47
06813	Ilex Vomitoria Nana	#15	3	0	3	59.57	178.70	47.65
05633	Imperata C. Rubra	#1	173	0	173	5.89	1,018.11	4.71
09274	Iresine Herbstii Mix	#5	39	0	39	15.50	604.50	12.40
08936	Iresine Herbstii Mix	#1	10	0	10	5.45	54.45	4.36
06068	Iris Nada	#1	254	0	254	21.62	5,490.21	17.29
07438	Iris Nada	#5	60	0	60	22.18	1,330.56	17.74
06911	Iris Siberian	#1	0	0	0	5.89	0.00	4.71
06515	Jacaranda Mimosifolia Multi	48" BOX	1	0	1	1,232.00	1,232.00	985.60
09278	Jasminum Grandiflorum	#5	150	0	150	14.23	2,134.50	11.38
09235	Jasminum Grandiflorum	#1	0	0	0	5.89	0.00	4.71
02146	Jasminum Magnificum	#1	0	0	0	5.89	0.00	4.71
05487	Jasminum Magnificum	#15	0	0	0	59.57	0.00	47.65
02147	Jasminum Magnificum	#5	44	0	44	12.87	566.46	10.30
05479	Jasminum Mesnyi	#15	0	0	0	59.57	0.00	47.65
02148	Jasminum Mesnyi	#1	0	0	0	4.46	0.00	3.56
02150	Jasminum Mesnyi	#5	137	0	137	10.84	1,485.35	8.67
05635	Juncus Carmen's Japan	#1	560	0	560	5.89	3,295.60	4.71
05636	Juncus Carmen's Japan	#5	18	0	18	16.94	304.92	13.55
05640	Juncus Patens	#5	108	0	108	15.59	1,683.18	12.47
05641	Juncus Patens Elk Blue	#1	181	0	181	5.89	1,065.19	4.71
07555	Juniperus Blue Point	24" TUB	119	0	119	160.16	19,059.04	128.13
02177	Juniperus Blue Point	#1	0	0	0	5.89	0.00	4.71
02178	Juniperus Blue Point	#5	31	0	31	18.30	567.15	14.64
02179	Juniperus Blue Point	#15	32	0	32	67.05	2,145.44	53.64
07781	Juniperus c. 'Torulosa Var.'	24" TUB	39	0	39	172.48	6,726.72	137.98
02238	Juniperus Chin. Torulosa	#5	1	0	1	18.30	18.30	14.64
02239	Juniperus Chin. Torulosa	#15	0	0	0	59.57	0.00	47.65
02240	Juniperus Chin. Torulosa	24" BOX	1	0	1	172.48	172.48	137.98
07726	Juniperus Chin. Torulosa NLG	48" BOX	0	0	0	1,120.00	0.00	896.00
02241	Juniperus Chin. Torulosa NLG	36" BOX	6	0	6	511.28	3,067.68	409.02
02197	Juniperus Old Gold	#5	46	0	46	12.87	592.20	10.30
02198	Juniperus Old Gold	#15	0	0	0	59.57	0.00	47.65
02210	Juniperus Procumbens Nana	#5	8	0	8	18.30	146.36	14.64
02232	Juniperus Sab. Tamariscifolia	#5	52	0	52	12.87	669.45	10.30
04772	Juniperus Scop. Wichita Blue	#15	52	0	52	67.05	3,486.34	53.64
02227	Juniperus Sky Rocket	24" BOX	4	0	4	160.16	640.64	128.13
06783	Kaempferia Gilberti	#1	0	0	0	8.86	0.00	7.08

08093	Kniphofia Rockette Yellow	#1	272	0	272	10.07	2,737.68	8.05
05954	Kniphofia Uvaria Hybrids	#15	0	0	0	35.70	0.00	28.56
05325	Kniphofia Uvaria Hybrids	#1	107	0	107	5.89	629.70	4.71
02261	Kniphofia Uvaria Hybrids	#5	18	0	18	13.55	243.94	10.84
02262	Koelreuteria bipinnata Multi	#1	0	0	0	5.89	0.00	4.71
02264	Koelreuteria bipinnata Multi	#15	0	0	0	59.57	0.00	47.65
02265	Koelreuteria bipinnata Multi	24" BOX	0	0	0	154.00	0.00	123.20
02266	Koelreuteria bipinnata Multi	36" BOX	3	0	3	511.28	1,533.84	409.02
06476	Koelreuteria bipinnata Multi	48" BOX	0	0	0	1,232.00	0.00	985.60
06451	Koelreuteria bipinnata Multi	60" BOX	0	0	0	2,464.00	0.00	1,971.20
06901	Koelreuteria Bipinnata Std	48" BOX	23	0	23	1,232.00	28,336.00	985.60
07647	Koelreuteria Bipinnata Std	72" BOX	6	0	6	3,024.00	18,144.00	2,419.20
02267	Koelreuteria Bipinnata Std	#1	0	0	0	5.89	0.00	4.71
02268	Koelreuteria Bipinnata Std	#5	49	0	49	15.59	763.67	12.47
02269	Koelreuteria Bipinnata Std	#15	61	0	61	59.57	3,633.47	47.65
02270	Koelreuteria Bipinnata Std	24" BOX	24	0	24	154.00	3,696.00	123.20
02271	Koelreuteria Bipinnata Std	36" BOX	6	0	6	511.28	3,067.68	409.02
06193	Koelreuteria Bipinnata Std	60" BOX	2	0	2	2,217.60	4,435.20	1,774.08
09292	Koelreuteria Panic Mult	#5	37	0	37	15.59	576.65	12.47
02276	Koelreuteria Paniculata	#5	197	0	197	15.59	3,070.25	12.47
02277	Koelreuteria Paniculata	#15	6	0	6	59.57	357.39	47.65
02278	Koelreuteria Paniculata	24" BOX	11	0	11	154.00	1,694.00	123.20
02279	Koelreuteria Paniculata	36" BOX	2	0	2	511.28	1,022.56	409.02
08360	Lagerstroemia Glendora White S	36" BOX	2	0	2	554.40	1,108.80	443.52
08361	Lagerstroemia Hot Pink	36" BOX	31	0	31	554.40	17,186.40	443.52
08327	Lagerstroemia Hot Pink	24" BOX	0	0	0	172.48	0.00	137.98
05134	Lagerstroemia Hot Pink	#15	0	0	0	67.05	0.00	53.64
09104	Lagerstroemia Hot Pink	48" BOX	8	0	8	1,232.00	9,856.00	985.60
09038	Lagerstroemia Hot Pink	#5	15	0	15	19.80	297.00	15.84
08366	Lagerstroemia Hot Pink Std	48" BOX	20	0	20	1,232.00	24,640.00	985.60
08375	Lagerstroemia Hot Pink Std	24" BOX	0	0	0	172.48	0.00	137.98
08365	Lagerstroemia Hot Pink Std	36" BOX	0	0	0	554.40	0.00	443.52
06939	Lagerstroemia i Dynamite Multi	#15	41	0	41	67.05	2,748.85	53.64
06995	Lagerstroemia i Dynamite Multi	24" BOX	34	0	34	172.48	5,864.32	137.98
07765	Lagerstroemia i Dynamite Multi	#5	0	0	0	15.52	0.00	12.42
07779	Lagerstroemia i Muskogee multi	24" TUB	66	0	66	172.48	11,383.68	137.98
06452	Lagerstroemia i Muskogee Multi	48" BOX	33	0	33	1,232.00	40,656.00	985.60
02331	Lagerstroemia I Muskogee Multi	#5	29	0	29	19.65	569.85	15.72
02332	Lagerstroemia I Muskogee Multi	#15	71	0	71	67.05	4,760.20	53.64
02333	Lagerstroemia I Muskogee Multi	24" BOX	0	0	0	172.48	0.00	137.98
02334	Lagerstroemia I Muskogee Multi	36" BOX	10	0	10	554.40	5,544.00	443.52

00727	Lagerstroemia Muskogee Multi	#1	0	0	0	5.89	0.00	4.71
02336	Lagerstroemia Muskogee Std	#1	320	0	320	5.89	1,883.20	4.71
02337	Lagerstroemia Muskogee Std	#5	56	0	56	19.65	1,100.40	15.72
02338	Lagerstroemia Muskogee Std	#15	174	0	174	67.05	11,665.83	53.64
02339	Lagerstroemia Muskogee Std	24" BOX	120	0	120	172.48	20,697.60	137.98
02340	Lagerstroemia Muskogee Std	36" BOX	63	1	62	523.60	32,463.20	418.88
04609	Lagerstroemia Muskogee Std	48" BOX	47	0	47	1,232.00	57,904.00	985.60
05102	Lagerstroemia Natchez Multi	#5	62	0	62	19.65	1,218.30	15.72
05103	Lagerstroemia Natchez Multi	24" BOX	43	0	43	172.48	7,416.64	137.98
06156	Lagerstroemia Natchez Multi	36" BOX	18	0	18	554.40	9,979.20	443.52
05925	Lagerstroemia Natchez Multi	48" BOX	0	0	0	1,232.00	0.00	985.60
02344	Lagerstroemia Natchez Multi	#15	62	0	62	67.05	4,156.79	53.64
02345	Lagerstroemia Natchez Std	#1	300	0	300	5.89	1,765.50	4.71
02346	Lagerstroemia Natchez Std	#5	120	0	120	19.65	2,358.00	15.72
02347	Lagerstroemia Natchez Std	#15	475	0	475	67.05	31,846.38	53.64
02348	Lagerstroemia Natchez Std	24" BOX	87	0	87	172.48	15,005.76	137.98
05910	Lagerstroemia Natchez Std	48" BOX	41	0	41	1,232.00	50,512.00	985.60
05104	Lagerstroemia Natchez Std	36" BOX	16	0	16	554.40	8,870.40	443.52
07325	Lagerstroemia Red Rocket	#1	0	0	0	6.66	0.00	5.32
07544	Lagerstroemia Tuscarora Mult	24" TUB	170	0	170	172.48	29,321.60	137.98
05108	Lagerstroemia Tuscarora Mult	#1	0	0	0	5.89	0.00	4.71
05109	Lagerstroemia Tuscarora Mult	#5	215	0	215	19.65	4,224.75	15.72
05110	Lagerstroemia Tuscarora Mult	36" BOX	16	0	16	523.60	8,377.60	418.88
04857	Lagerstroemia Tuscarora Mult	48" BOX	0	0	0	1,243.20	0.00	994.56
02296	Lagerstroemia Tuscarora Mult	#15	59	0	59	67.05	3,955.66	53.64
02297	Lagerstroemia Tuscarora Mult	24" BOX	0	0	0	172.48	0.00	137.98
02302	Lagerstroemia Tuscarora Std	#15	135	0	135	67.05	9,051.08	53.64
09072	Lagerstroemia Tuscarora Std	#7	0	0	0	60.95	0.00	48.76
05105	Lagerstroemia Tuscarora Std	#5	225	0	225	19.65	4,421.25	15.72
05106	Lagerstroemia Tuscarora Std	24" BOX	143	0	143	172.48	24,664.64	137.98
05107	Lagerstroemia Tuscarora Std	36" BOX	12	0	12	523.60	6,283.20	418.88
04829	Lagerstroemia Tuscarora Std	48" BOX	17	0	17	1,108.80	18,849.60	887.04
07216	Lagerstroemia Tuscarora Std	16" BOX	0	0	0	61.60	0.00	49.28
07571	Lagerstroemia l. Catawba	48" BOX	1	0	1	1,232.00	1,232.00	985.60
06750	Lagerstroemia l. Catawba	#5	0	0	0	15.59	0.00	12.47
06751	Lagerstroemia l. Catawba	#15	42	-1	43	67.05	2,882.94	53.64
06344	Lagerstroemia l. Catawba	#1	0	0	0	5.89	0.00	4.71
07684	Lagerstroemia l. Catawba	36" BOX	8	0	8	554.40	4,435.20	443.52
07780	Lagerstroemia l. Catawba	24" TUB	40	0	40	172.48	6,899.20	137.98
03141	Lagerstroemia l. Catawba	24" BOX	0	0	0	172.48	0.00	137.98
09298	Lagerstroemia l. Catawba Std	48" BOX	2	0	2	1,232.00	2,464.00	985.60

09306	Lagerstroemia Petite Ambers	#15	41	0	41	81.90	3,357.70	65.52
05139	Lagerstroemia Pink Multi	#15	33	0	33	59.57	1,965.65	47.65
05140	Lagerstroemia Pink Multi	24" BOX	29	0	29	172.48	5,001.92	137.98
05141	Lagerstroemia Pink Multi	36" BOX	17	0	17	523.60	8,901.20	418.88
04853	Lagerstroemia Zuni Multi	48" BOX	2	0	2	1,108.80	2,217.60	887.04
04621	Lagerstroemia Zuni Multi	36" BOX	11	0	11	554.40	6,098.40	443.52
05101	Lagerstroemia Zuni Multi	#15	136	0	136	67.05	9,118.12	53.64
05975	Lagerstroemia Zuni Std	36" BOX	7	0	7	554.40	3,880.80	443.52
02307	Lagerstroemia Zuni Std	#5	0	0	0	18.30	0.00	14.64
02309	Lagerstroemia Zuni Std	24" BOX	57	0	57	172.48	9,831.36	137.98
02308	Lagerstroemia Zuni Std	#15	87	0	87	67.05	5,832.92	53.64
02388	Lantana Camara Carnival	#5	64	0	64	10.16	650.50	8.13
02406	Lantana Camara Radiation	#5	20	0	20	10.16	203.28	8.13
02405	Lantana Camara Radiation	#1	48	0	48	3.69	176.88	2.95
04879	Lantana Camara Samantha	#5	0	0	0	16.26	0.00	13.01
09043	Lantana Little Red	#1	290	0	290	6.00	1,738.55	4.80
09154	Lantana Little Red	#5	134	0	134	16.26	2,179.11	13.01
09294	Lantana Mango	#1	562	0	562	4.46	2,503.71	3.56
09276	Lantana Mango	#5	85	0	85	12.94	1,099.56	10.35
02396	Lantana Montevidensis	#1	22	0	22	3.69	81.07	2.95
02397	Lantana Montevidensis	#5	37	0	37	10.16	376.07	8.13
02398	Lantana Montevidensis	#15	0	0	0	52.09	0.00	41.67
02399	Lantana New Gold	#1	16	0	16	4.46	71.28	3.56
06196	Lantana New Gold	#5	31	0	31	12.87	399.09	10.30
02418	Lantana White Trailing	#5	230	0	230	10.16	2,337.72	8.13
02419	Lantana Yellow	#1	0	0	0	3.69	0.00	2.95
02437	Laurus nobilis	#15	96	0	96	67.05	6,436.32	53.64
02438	Laurus nobilis	24" BOX	0	0	0	203.28	0.00	162.62
04633	Laurus nobilis	36" BOX	0	0	0	523.60	0.00	418.88
07783	Laurus nobilis	24" TUB	68	0	68	203.28	13,823.04	162.62
05830	Laurus Nobilis Colum NLG	24" BOX	0	0	0	215.60	0.00	172.48
05896	Laurus Nobilis Colum NLG	36" BOX	7	0	7	554.40	3,880.80	443.52
02448	Laurus 'Saratoga'	24" BOX	16	0	16	172.48	2,759.68	137.98
04378	Laurus 'Saratoga'	36" BOX	4	0	4	554.40	2,217.60	443.52
06082	Laurus 'Saratoga' Std	24" BOX	0	0	0	178.64	0.00	142.91
02450	Laurus 'Saratoga' Std	#15	2	0	2	74.53	149.05	59.62
02445	Laurus 'Saratoga' Std	#1	0	0	0	7.43	0.00	5.94
06933	Laurus 'Saratoga' Std	#5	0	0	0	18.30	0.00	14.64
09177	Laurus 'Saratoga' Std	36" BOX	7	0	7	554.40	3,880.80	443.52
02452	Lavandula Angustifolia	#5	2	0	2	12.87	25.75	10.30
02459	Lavandula Dentata	#1	188	0	188	5.12	961.62	4.09

02461	Lavandula Dentata	#5	7	0	7	12.87	90.12	10.30
02463	Lavandula Dentata Green	#1	0	0	0	5.12	0.00	4.09
02464	Lavandula Dentata Green	#5	3	0	3	12.87	38.62	10.30
02465	Lavandula Goodwin Creek	#1	0	0	0	5.12	0.00	4.09
02466	Lavandula Goodwin Creek	#5	58	0	58	12.87	746.69	10.30
02467	Lavandula Heterophylla	#1	0	0	0	5.12	0.00	4.09
02468	Lavandula Heterophylla	#5	100	0	100	12.87	1,287.40	10.30
02480	Lavandula Intermedia Provence	#1	314	0	314	5.12	1,606.11	4.09
02481	Lavandula Intermedia Provence	#5	0	0	0	12.87	0.00	10.30
02484	Lavandula Stoechas	#5	5	0	5	12.87	64.37	10.30
02424	Lavatera Bicolor (maritima)	#15	10	0	10	74.53	745.25	59.62
02422	Lavatera Bicolor (maritima)	#5	23	0	23	12.20	280.53	9.76
02488	Leonotis Leonarus	#1	50	0	50	5.12	255.75	4.09
02489	Leonotis Leonarus	#5	181	0	181	12.20	2,207.66	9.76
02490	Leonotis Leonarus	#15	0	0	0	59.57	0.00	47.65
04785	Leonotis Menthifolia Compacta	#5	108	0	108	10.16	1,097.71	8.13
02516	Leptospermum S Helen Strybing	#5	4	0	4	11.52	46.08	9.22
02517	Leptospermum S Helen Strybing	#15	0	0	0	59.57	0.00	47.65
02525	Leptospermum S Ruby Glow	#15	4	0	4	59.57	238.26	47.65
02526	Leptospermum S Ruby Glow	24" BOX	0	0	0	172.48	0.00	137.98
02534	Leucophyllum Green Cloud	#5	6	0	6	10.84	65.05	8.67
04432	Ligustrum J Texanum Patio Tree	36" BOX	1	0	1	492.80	492.80	394.24
08420	Ligustrum j. Texanum	16" BOX	0	0	0	67.76	0.00	54.21
02553	Ligustrum j. Texanum	#1	1,166	0	1,166	4.46	5,194.53	3.56
02554	Ligustrum j. Texanum	#5	1,184	0	1,184	10.84	12,836.93	8.67
02555	Ligustrum j. Texanum	#15	232	0	232	59.57	13,819.08	47.65
06315	Ligustrum j. Texanum	24" BOX	0	0	0	154.00	0.00	123.20
07283	Ligustrum j. Texanum Colum	24" TUB	51	0	51	246.40	12,566.40	197.12
07609	Ligustrum j. Texanum Column	#7	0	0	0	56.00	0.00	44.80
06532	Ligustrum j. Texanum Column	16" BOX	0	0	0	67.76	0.00	54.21
09158	Ligustrum j. Texanum Column	36" BOX	1	0	1	500.00	500.00	400.00
05308	Ligustrum j. Texanum Column	#5	302	0	302	19.65	5,934.30	15.72
05307	Ligustrum j. Texanum Column	#15	2	0	2	81.90	163.79	65.52
02546	Ligustrum Japonicum	#5	504	0	504	10.16	5,122.66	8.13
02547	Ligustrum Japonicum	#15	78	0	78	52.09	4,062.63	41.67
02542	Ligustrum Japonicum Lucidum	#1	0	0	0	3.69	0.00	2.95
04349	Ligustrum Japonicum Standard	36" BOX	7	0	7	431.20	3,018.40	344.96
04354	Ligustrum Japonicum Standard	48" BOX	0	0	0	1,232.00	0.00	985.60
02559	Ligustrum Siver Star	#15	17	0	17	52.09	885.45	41.67
02560	Ligustrum Vicary Varigate	#1	0	0	0	5.12	0.00	4.09
02561	Ligustrum Vicary Varigate	#5	232	0	232	12.20	2,829.70	9.76

03143	Ligustrum Vicary Varigate	#15	0	0	0	52.09	0.00	41.67
02566	Limonium Perezii	#1	300	0	300	3.69	1,105.50	2.95
02567	Limonium Perezii	#5	2	0	2	10.16	20.33	8.13
07518	Liquidambar S Burgundy	48" BOX	13	0	13	1,232.00	16,016.00	985.60
02592	Liquidambar S Palo Alto	#15	36	0	36	67.05	2,413.62	53.64
02593	Liquidambar S Palo Alto	24" BOX	0	0	0	172.48	0.00	137.98
02594	Liquidambar S Palo Alto	36" BOX	5	0	5	523.60	2,618.00	418.88
07580	Liquidambar S Palo Alto	48" BOX	5	0	5	1,100.00	5,500.00	880.00
02598	Liquidambar S Rotundiloba	36" BOX	3	0	3	616.00	1,848.00	492.80
05837	Liquidambar S Rotundiloba	#1	0	0	0	10.40	0.00	8.32
02599	Liquidambar Styrcifua	#1	200	0	200	5.12	1,023.00	4.09
02600	Liquidambar Styrcifua	#5	0	0	0	15.59	0.00	12.47
02601	Liquidambar Styrcifua	#15	35	0	35	59.57	2,084.78	47.65
02602	Liquidambar Styrcifua	24" BOX	17	0	17	154.00	2,618.00	123.20
02603	Liquidambar Styrcifua	36" BOX	4	0	4	511.28	2,045.12	409.02
02609	Liriodendron Tulipifera	36" BOX	1	0	1	511.28	511.28	409.02
02605	Liriodendron Tulipifera	#1	0	0	0	5.89	0.00	4.71
07706	Liriodendron Tulipifera NLG	72" BOX	0	0	0	3,136.00	0.00	2,508.80
02568	Liriope Gigantea	#1	175	0	175	5.12	895.13	4.09
02569	Liriope Gigantea	#5	115	0	115	12.87	1,480.51	10.30
02574	Liriope Muscari	#1	1	0	1	4.46	4.46	3.56
02575	Liriope Muscari	#5	0	0	0	10.84	0.00	8.67
02612	Lobelia Laxiflora	#5	116	0	116	11.52	1,336.20	9.22
07462	Lomandra Breeze	#5	539	0	539	24.64	13,280.96	19.71
07094	Lomandra Breeze	#1	677	0	677	5.89	3,984.15	4.71
02618	Lonicera J. Halliana Stk.	#5	42	0	42	14.56	611.60	11.65
02619	Lonicera J. Halliana Stk.	#15	0	0	0	59.57	0.00	47.65
02624	Loropetalum Chinense	#5	6	0	6	17.62	105.71	14.09
06075	Loropetalum Chinense	#15	12	0	12	53.63	643.50	42.90
02625	Lotus F. Parrot Beak	#1	0	0	0	4.46	0.00	3.56
02637	Macfadyena Unguis-cati	#5	4	0	4	14.56	58.25	11.65
04399	Magnolia Dd Blanchard	24" BOX	22	0	22	203.28	4,472.16	162.62
04742	Magnolia Dd Blanchard	#1	0	0	0	14.91	0.00	11.92
04795	Magnolia Dd Blanchard	36" BOX	8	0	8	616.00	4,928.00	492.80
04889	Magnolia Dd Blanchard	48" BOX	2	0	2	1,232.00	2,464.00	985.60
06489	Magnolia Dd Blanchard	#5	0	0	0	26.43	0.00	21.14
08411	Magnolia G Edith Bogue	#5	900	0	900	36.96	33,264.00	29.57
09121	Magnolia G Edith Bogue	24" BOX	5	0	5	203.28	1,016.40	162.62
08412	Magnolia G Kay Parris	#1	0	0	0	14.91	0.00	11.92
05577	Magnolia G Little Gem	24" TUB	31	0	31	166.32	5,155.92	133.06
05515	Magnolia G Little Gem	48" BOX	2	0	2	1,232.00	2,464.00	985.60

02681	Magnolia G Little Gem	24" BOX	0	0	0	203.28	0.00	162.62
02682	Magnolia G Little Gem	36" BOX	2	0	2	616.00	1,232.00	492.80
02680	Magnolia G Little Gem LB.	#15	139	0	139	81.90	11,383.41	65.52
04998	Magnolia G Little Gem Multi	#15	0	0	0	81.90	0.00	65.52
05752	Magnolia G Little Gem Standard	#15	193	0	193	81.90	15,805.74	65.52
05944	Magnolia G Little Gem Standard	48" BOX	7	0	7	1,232.00	8,624.00	985.60
05941	Magnolia G Little Gem Standard	36" BOX	1	0	1	554.40	554.40	443.52
06119	Magnolia G Little Gem Standard	24" BOX	0	0	0	166.32	0.00	133.06
04579	Magnolia G Saint Mary	48" BOX	1	0	1	1,232.00	1,232.00	985.60
05927	Magnolia Grandiflora	48" BOX	43	0	43	1,108.80	47,678.40	887.04
02655	Magnolia Grandiflora	#1	0	0	0	5.89	0.00	4.71
02656	Magnolia Grandiflora	#5	712	0	712	19.65	13,990.80	15.72
02658	Magnolia Grandiflora	#15	170	1	169	67.05	11,330.61	53.64
02659	Magnolia Grandiflora	24" BOX	40	0	40	172.48	6,899.20	137.98
02661	Magnolia Grandiflora	36" BOX	9	0	9	511.28	4,601.52	409.02
02647	Magnolia Grandiflora Low Branc	#15	0	0	0	74.53	0.00	59.62
07197	Magnolia Grandiflora Low Brenc	48" BOX	4	0	4	1,108.80	4,435.20	887.04
02752	Melaleuca Quinquenervia Multi	36" BOX	1	0	1	511.28	511.28	409.02
07701	Melia Azedarach	36" BOX	1	0	1	523.04	523.04	418.43
07702	Melia Azedarach	48" BOX	2	0	2	1,232.00	2,464.00	985.60
02762	Mentha Nigra	#1	0	0	0	5.12	0.00	4.09
01493	Microlepis Strigosa	#5	57	0	57	16.94	965.58	13.55
02781	Million Bells	#1	0	0	0	4.46	0.00	3.56
04535	Miscanthus Cosmopolitan	#5	110	0	110	16.94	1,863.40	13.55
05675	Miscanthus S Yaku Jima	#5	35	0	35	15.59	545.48	12.47
05676	Miscanthus Sarabandi	#1	0	0	0	5.89	0.00	4.71
05758	Miscanthus Transmorrisonensis	#1	50	0	50	5.89	294.25	4.71
05759	Miscanthus Transmorrisonensis	#5	292	0	292	14.91	4,352.84	11.93
05682	Miscanthus Varigated	#1	0	0	0	6.66	0.00	5.32
05683	Miscanthus Varigated	#5	349	0	349	16.94	5,912.06	13.55
05684	Miscanthus Zebrinus	#1	0	0	0	5.89	0.00	4.71
02833	Morus Alba	#15	5	0	5	59.57	297.83	47.65
02834	Morus Alba	24" BOX	11	0	11	154.00	1,694.00	123.20
02835	Morus Alba	36" BOX	3	0	3	511.28	1,533.84	409.02
05688	Muhlenbergia Capilaris	#1	41	0	41	5.89	241.29	4.71
05689	Muhlenbergia Capilaris	#5	124	0	124	16.94	2,100.56	13.55
09240	Muhlenbergia Dubia	#5	0	0	0	14.85	0.00	11.88
09047	Muhlenbergia Dubia	#1	12	0	12	5.89	70.62	4.71
01077	Muhlenbergia Dumosa	#1	0	0	0	5.89	0.00	4.71
05692	Muhlenbergia Rigens	#1	677	0	677	5.89	3,984.15	4.71
05693	Muhlenbergia Rigens	#5	0	0	0	16.94	0.00	13.55

02839	Murraya Exotica	#1	0	0	0	5.12	0.00	4.09
02858	Musa ensente aurelii	#5	3	0	3	24.39	73.18	19.52
02859	Musa ensente aurelii	#15	24	0	24	81.90	1,965.48	65.52
08903	Musa Grand Nain	#15	15	0	15	84.65	1,269.68	67.72
02877	Myoporum Laetum Carson Sh	24" BOX	2	0	2	154.00	308.00	123.20
02887	Myoporum p. Putah Creek	#1	1,703	0	1,703	3.69	6,275.56	2.95
05222	Myoporum p. Putah Creek	#5	-30	-30	0	10.84	0.00	8.67
02888	Myoporum Parvifoilium Pink	#1	198	40	158	3.69	582.23	2.95
02892	Myrica Californica	#1	0	0	0	5.12	0.00	4.09
02890	Myrsine Africana	#5	1	0	1	12.20	12.20	9.76
06754	Myrsine africanus	14" BOX	0	0	0	67.76	0.00	54.21
02897	Myrtus Communis	#1	0	0	0	4.46	0.00	3.56
02898	Myrtus Communis	#5	6	0	6	10.84	65.05	8.67
05463	Myrtus Communis	#15	8	0	8	59.57	476.52	47.65
02896	Myrtus Communis Compacta	#5	38	0	38	10.84	412.00	8.67
02895	Myrtus Communis Compacta	#1	392	8	384	4.46	1,710.72	3.56
02899	Myrtus Variegata	#1	0	0	0	5.12	0.00	4.09
02900	Myrtus Variegata	#5	36	0	36	12.20	439.09	9.76
02901	Nandina D. Gulf Stream	#5	2	0	2	24.39	48.79	19.52
02902	Nandina D. Gulf Stream	#15	0	0	0	81.90	0.00	65.52
02907	Nandina D. Nana Purpurea	#5	500	0	500	16.94	8,470.00	13.55
02908	Nandina D. Nana Purpurea	#15	0	0	0	59.57	0.00	47.65
02912	Nandina Domestica	#1	422	0	422	4.46	1,880.01	3.56
02913	Nandina Domestica	#5	877	0	877	11.52	10,102.16	9.22
02914	Nandina Domestica	#15	0	0	0	52.09	0.00	41.67
05740	Nassella (Stipa) Tenuissima	#1	2,518	0	2,518	5.89	14,818.43	4.71
05741	Nassella (Stipa) Tenuissima	#5	10	0	10	14.91	149.07	11.93
05422	Nepeta Muss Six Hills Giant	#1	12	0	12	5.12	61.38	4.09
08560	Nepeta Walker's Low	#1	0	0	0	6.00	0.00	4.80
01497	Nephrolepis Exalta	#1	8	0	8	5.89	47.08	4.71
01499	Nephrolepis Exalta	#5	151	0	151	14.91	2,250.96	11.93
01500	Nephrolepis Exalta	#15	0	0	0	59.57	0.00	47.65
02932	Nerium Hot Pink	#5	1	0	1	19.65	19.65	15.72
05750	Nerium Hot Pink	#15	66	0	66	52.09	3,437.61	41.67
02940	Nerium Little Red	#1	0	0	0	5.12	0.00	4.09
02941	Nerium Little Red	#5	5	0	5	11.52	57.60	9.22
02942	Nerium Little Red	#15	19	0	19	59.57	1,131.74	47.65
02946	Nerium Mrs Roeding	#5	0	0	0	10.84	0.00	8.67
02947	Nerium Mrs Roeding	#15	12	0	12	52.09	625.02	41.67
02956	Nerium O. Sister Agnes	#1	0	0	0	4.46	0.00	3.56
02958	Nerium O. Sister Agnes	#15	75	0	75	52.09	3,906.38	41.67

05450	Nerium Oleander Mix	#5	0	0	0	10.84	0.00	8.67
02954	Nerium Oleander Red	#5	1	0	1	10.84	10.84	8.67
02952	Nerium Oleander Red	#1	0	0	0	4.46	0.00	3.56
02955	Nerium Oleander Red	#15	12	0	12	52.09	625.02	41.67
02960	Nerium Petite Pink	#1	0	0	0	5.12	0.00	4.09
02961	Nerium Petite Pink	#5	12	0	12	11.52	138.23	9.22
02963	Nerium Petite Pink	#15	1	0	1	74.53	74.53	59.62
02964	Nerium Petite Salmon	#1	0	0	0	5.12	0.00	4.09
02965	Nerium Petite Salmon	#5	200	0	200	11.52	2,303.80	9.22
02966	Nerium Petite Salmon	#15	121	0	121	74.53	9,017.53	59.62
02980	Nerium White Std	#15	8	0	8	59.57	476.52	47.65
02981	Nerium White Std	24" BOX	10	0	10	154.00	1,540.00	123.20
03004	Olea Dwarf	#5	48	0	48	19.65	943.20	15.72
03005	Olea Dwarf	#15	647	0	647	89.38	57,825.63	71.50
03006	Olea Dwarf	24" BOX	0	0	0	215.60	0.00	172.48
04941	Olea Dwarf	36" BOX	3	-2	5	554.40	2,772.00	443.52
06851	Olea Dwarf	#1	1,237	0	1,237	11.17	13,811.11	8.93
07545	Olea Dwarf	24" TUB	8	0	8	215.04	1,720.32	172.03
05184	Olea Frantoio (fruiting)	#15	59	0	59	126.67	7,473.24	101.33
09148	Olea Frantoio (fruiting)	72" BOX	0	0	0	3,500.00	0.00	2,800.00
07285	Olea Frantoio (fruiting)	24" TUB	60	0	60	215.60	12,936.00	172.48
07321	Olea Frantoio (fruiting)	10" BOX	0	0	0	61.60	0.00	49.28
07652	Olea Frantoio (fruiting)	48" BOX	7	0	7	1,232.00	8,624.00	985.60
08417	Olea Frantoio (fruiting)	36" BOX	41	0	41	554.40	22,730.40	443.52
07740	Olea Italian Assorted	36" BOX	12	0	12	1,232.00	14,784.00	985.60
05844	Olea Italian Assorted	24" TUB	212	0	212	215.60	45,707.20	172.48
06276	Olea Manzanillo	24" BOX	6	0	6	215.60	1,293.60	172.48
00714	Olea Manzanillo	#5	0	0	0	19.65	0.00	15.72
06643	Olea Non Fruiting	#5	83	0	83	19.65	1,630.95	15.72
06959	Olea Non Fruiting	#15	16	0	16	89.38	1,430.00	71.50
09157	Olea Non Fruiting	48" BOX	0	0	0	1,200.00	0.00	960.00
07537	Olea Non Fruiting	24" TUB	47	0	47	276.64	13,002.08	221.31
06997	Olea Non Fruiting	24" BOX	0	0	0	277.20	0.00	221.76
07751	Olea Non Fruiting	36" BOX	16	0	16	560.00	8,960.00	448.00
06772	Olea San Fernando	36" BOX	5	0	5	554.40	2,772.00	443.52
06612	Olea Swan Hill	16" BOX	0	0	0	104.72	0.00	83.78
07058	Olea Swan Hill	36" BOX	140	0	140	554.40	77,616.00	443.52
07610	Olea Swan Hill	48" BOX	8	0	8	1,120.00	8,960.00	896.00
07323	Olea Swan Hill	24" TUB	841	0	841	277.20	233,125.20	221.76
04572	Olea Swan Hill	#5	0	0	0	80.08	0.00	64.06
06048	Olea Swan Hill	#15	118	0	118	126.67	14,946.47	101.33

07287	Olea Swan Hill Std	36" BOX	3	0	3	616.00	1,848.00	492.80
06611	Olea Swan Hill Std	16" BOX	0	0	0	104.72	0.00	83.78
06518	Olea Swan Hill Std	24" TUB	9	0	9	277.20	2,494.80	221.76
07752	Olea Swan Hill Std	FG	497	0	497	246.40	122,460.80	197.12
09178	Olea Swan Hill Std	48" BOX	2	0	2	1,500.00	3,000.00	1,200.00
06116	Olea Wilsonii	24" TUB	72	0	72	215.60	15,523.20	172.48
06277	Olea Wilsonii	60" BOX	0	0	0	2,217.60	0.00	1,774.08
06278	Olea Wilsonii	72" BOX	0	0	0	3,203.20	0.00	2,562.56
05949	Olea Wilsonii	48" BOX	0	0	0	1,232.00	0.00	985.60
03013	Olea Wilsonii	#5	62	0	62	19.65	1,218.30	15.72
03014	Olea Wilsonii	#15	108	0	108	67.05	7,240.86	53.64
08077	Olea Wilsonii Standard	48" BOX	1	0	1	1,232.00	1,232.00	985.60
07950	Olea Wilsonii Standard	24" TUB	0	0	0	215.60	0.00	172.48
05648	Olea Wilsonii Standard	#5	1	0	1	19.65	19.65	15.72
05848	Olea Wilsonii Standard	24" BOX	4	0	4	215.60	862.40	172.48
05754	Olea Wilsonii Standard	#15	340	0	340	81.90	27,844.30	65.52
03016	Olea Wilsonii Standard	36" BOX	16	0	16	616.00	9,856.00	492.80
03017	Ophiopogon Nigrescens	#1	15	0	15	10.40	155.93	8.32
06785	Ophiopogon Nigrescens NLG	#5	0	0	0	12.87	0.00	10.30
07408	Ophiopogon Jap. Silvert Mist	#1	727	0	727	6.00	4,358.37	4.80
03019	Ophiopogon Japonicus	#1	910	0	910	5.12	4,654.65	4.09
05407	Ophiopogon Japonicus	#5	0	0	0	12.87	0.00	10.30
03018	Ophiopogon Japonicus Nana	#1	1,777	0	1,777	5.89	10,457.65	4.71
03026	Osmanthus Fragrans	#1	455	0	455	5.12	2,327.33	4.09
03027	Osmanthus Fragrans	#5	0	0	0	16.26	0.00	13.01
03028	Osmanthus Fragrans	#15	4	0	4	74.53	298.10	59.62
03031	Osmanthus Hetero Variegata	#5	9	0	9	16.26	146.36	13.01
03032	Osmanthus Hetero Variegata	#15	0	0	0	74.53	0.00	59.62
03033	Osteospermum Purple Symphony	#1	51	0	51	3.69	187.94	2.95
03036	Oxalis	#1	0	0	0	5.12	0.00	4.09
03162	Pandorea jasmin. Rosea	#5	255	0	255	14.56	3,713.31	11.65
03164	Pandorea jasmin. Rosea	#15	9	0	9	67.05	603.41	53.64
04543	Parkinsonia Aculeata	48" BOX	3	0	3	1,232.00	3,696.00	985.60
05036	Parkinsonia Aculeata	36" BOX	0	0	0	554.40	0.00	443.52
03166	Parkinsonia Aculeata	#15	0	0	0	59.57	0.00	47.65
03167	Parkinsonia Aculeata	24" BOX	8	0	8	221.76	1,774.08	177.41
03175	Parthenocissus Tricuspidata Vi	#1	8	0	8	5.12	40.92	4.09
06352	P-chamaedorea Elegans	#15	1	0	1	81.90	81.90	65.52
06232	P-chamaedorea Seifrizii	#5	0	0	0	10.84	0.00	8.67
03058	P-chamaedorea Seifrizii	#7	0	0	0	67.76	0.00	54.21
09305	Pedilanthus Macrocarpus	#5	170	0	170	40.00	6,800.00	32.00

09304	Pedilanthus Macrocarpus	#15	66	0	66	111.71	7,372.53	89.36
08429	Pennisetum Bunny Tail	#1	220	0	220	6.66	1,464.10	5.32
07315	Pennisetum Fireworks	#5	9	0	9	16.94	152.46	13.55
05706	Pennisetum Moudry	#1	22	0	22	6.66	146.41	5.32
05707	Pennisetum Moudry	#5	0	0	0	14.91	0.00	11.93
09046	Pennisetum Orient.Tall Tail	#5	208	0	208	15.95	3,317.60	12.76
05708	Pennisetum Orientalis	#1	72	0	72	6.66	479.16	5.32
05712	Pennisetum Setaceum Cupreum	#1	62	0	62	5.89	364.87	4.71
05713	Pennisetum Setaceum Cupreum	#5	15	0	15	14.91	223.61	11.93
05714	Pennisetum Setaceum Green	#1	192	0	192	4.46	855.36	3.56
05715	Pennisetum Setaceum Green	#5	44	0	44	12.20	536.67	9.76
05782	Pennisetum Setaceum Green	#15	0	0	0	52.09	0.00	41.67
07153	Pennisetum Sky Rocket	#1	0	0	0	5.89	0.00	4.71
05716	Pennisetum Spathiolatu	#1	650	0	650	6.66	4,325.75	5.32
05717	Pennisetum Spathiolatu	#5	10	0	10	14.91	149.07	11.93
05719	Pennisetum Streling Green	#5	0	0	0	14.91	0.00	11.93
05720	Pennisetum Villosum	#1	165	0	165	4.46	735.08	3.56
05721	Pennisetum Villosum	#5	97	0	97	12.20	1,183.11	9.76
03218	Perovskia Blue Spire	#5	10	0	10	10.84	108.42	8.67
05722	Phalaris A Fersey Form	#1	146	0	146	5.89	859.21	4.71
03239	Philodendron Selloum	#5	181	0	181	12.20	2,207.66	9.76
03240	Philodendron Selloum	#15	1	0	1	67.05	67.05	53.64
03238	Philodendron Selloum	#1	0	0	0	4.46	0.00	3.56
07463	Philodendron Selloum	16" BOX	1	0	1	61.60	61.60	49.28
03242	Philodendron Xanadu	#1	0	0	0	7.43	0.00	5.94
03243	Philodendron Xanadu	#5	43	0	43	18.30	786.69	14.64
03244	Philodendron Xanadu	#15	17	0	17	81.90	1,392.22	65.52
03245	Phlomis Fruticosa	#1	0	0	0	4.46	0.00	3.56
03246	Phlomis Fruticosa	#5	12	10	2	12.20	24.39	9.76
03247	Phlomis Lanata	#1	0	0	0	4.46	0.00	3.56
03248	Phlomis Lanata	#5	6	0	6	11.52	69.11	9.22
05030	Phoenix Reclinata	72" BOX	3	0	3	3,449.60	10,348.80	2,759.68
06117	Phoenix Roebelenii	24" TUB	14	0	14	227.92	3,190.88	182.34
03123	Phoenix Roebelenii	#1	0	0	0	7.43	0.00	5.94
03124	Phoenix Roebelenii	#5	0	0	0	26.43	0.00	21.14
03125	Phoenix Roebelenii	#15	44	0	44	96.86	4,261.62	77.48
03119	Phoenix Roebelenii Multi	#15	88	0	88	96.86	8,523.24	77.48
05576	Phoenix Roebelenii Multi	24" TUB	27	0	27	227.92	6,153.84	182.34
05191	Phormium Apricot Queen	#5	0	0	0	27.10	0.00	21.68
05192	Phormium Apricot Queen	#15	8	0	8	74.53	596.20	59.62
06008	Phormium Apricot Queen	#1	0	0	0	10.40	0.00	8.32

08352	Phormium Apricot Queen	#3	80	0	80	27.10	2,168.32	21.68
03255	Phormium Bronze Baby	#5	19	0	19	27.10	514.98	21.68
03256	Phormium Bronze Baby	#15	0	0	0	74.53	0.00	59.62
07440	Phormium Bronze Baby	#3	28	0	28	20.33	569.18	16.26
03258	Phormium Cookianum	#5	13	0	13	23.04	299.49	18.43
03259	Phormium Cookianum	#15	0	0	0	104.34	0.00	83.47
06439	Phormium Coordination	#15	12	0	12	119.19	1,430.22	95.35
06222	Phormium Coordination NFS	#1	0	0	0	12.60	0.00	10.08
08353	Phormium Cordination	#3	28	0	28	27.10	758.91	21.68
09184	Phormium Green Surfer	#3	7	0	7	12.32	86.24	9.86
02848	Phormium Pink Panther	#5	155	0	155	27.10	4,201.12	21.68
03421	Phormium Platts Black NFS	#1	224	0	224	10.40	2,328.48	8.32
09119	Phormium Sea Jade	#7	14	0	14	85.00	1,190.00	68.00
05201	Phormium Sea Jade	#5	0	0	0	27.10	0.00	21.68
05202	Phormium Sea Jade	#15	9	0	9	145.26	1,307.30	116.20
06958	Phormium T Rubrum Dwarf	#15	13	0	13	89.38	1,161.88	71.50
06955	Phormium T Rubrum Dwarf	#5	72	0	72	11.52	829.37	9.22
06114	Phormium tenax bronze	#5	807	0	807	12.32	9,942.24	9.86
07921	Phormium tenax bronze	#3	244	0	244	12.32	3,006.08	9.86
06793	Phormium tenax bronze	#1	0	0	0	5.12	0.00	4.09
06615	Phormium tenax bronze	#15	101	0	101	59.57	6,016.07	47.65
06150	Phormium Wings of Gold	#15	16	0	16	74.53	1,192.40	59.62
03306	Phormium Yellow Wave	#5	160	0	160	27.10	4,336.64	21.68
03307	Phormium Yellow Wave	#15	75	0	75	74.53	5,589.38	59.62
04933	Phormium Yellow Wave NFS	#1	0	0	0	12.60	0.00	10.08
06366	Photinia Pink Marble	#1	0	0	0	10.40	0.00	8.32
03309	Photinia X Fraseri	#1	489	0	489	5.12	2,501.24	4.09
03310	Photinia X Fraseri	#5	154	0	154	11.52	1,773.93	9.22
03312	Photinia X Fraseri	#15	14	0	14	52.09	729.19	41.67
03313	Photinia X Fraseri	24" BOX	0	0	0	160.16	0.00	128.13
03317	Photinia X Fraseri Std	24" BOX	1	0	1	172.48	172.48	137.98
03321	Pinus Canariensis	#5	53	0	53	15.59	826.01	12.47
03322	Pinus Canariensis	#15	274	0	274	67.05	18,370.33	53.64
03323	Pinus Canariensis	24" BOX	54	0	54	172.48	9,313.92	137.98
03324	Pinus Canariensis	36" BOX	21	0	21	523.60	10,995.60	418.88
03325	Pinus Canariensis	48" BOX	5	0	5	1,232.00	6,160.00	985.60
09075	Pinus Canariensis	#7	0	0	0	60.95	0.00	48.76
07700	Pinus Canariensis	72" BOX	1	0	1	3,203.20	3,203.20	2,562.56
07705	Pinus Eldarica	72" BOX	1	0	1	3,136.00	3,136.00	2,508.80
03327	Pinus Eldarica	#1	0	0	0	5.89	0.00	4.71
03328	Pinus Eldarica	#5	120	0	120	15.59	1,870.20	12.47

03329	Pinus Eldarica	#15	11	0	11	67.05	737.50	53.64
03330	Pinus Eldarica	24" BOX	22	0	22	172.48	3,794.56	137.98
03331	Pinus Eldarica	36" BOX	22	0	22	511.28	11,248.16	409.02
05939	Pinus Eldarica	60" BOX	0	0	0	1,724.80	0.00	1,379.84
06013	Pinus Eldarica	48" BOX	2	0	2	1,232.00	2,464.00	985.60
03332	Pinus Halepensis	#1	0	0	0	5.89	0.00	4.71
03333	Pinus Halepensis	#5	0	0	0	15.59	0.00	12.47
03334	Pinus Halepensis	#15	43	0	43	67.05	2,882.94	53.64
03335	Pinus Halepensis	24" BOX	22	0	22	172.48	3,794.56	137.98
03336	Pinus Halepensis	36" BOX	4	0	4	511.28	2,045.12	409.02
03337	Pinus Halepensis	48" BOX	0	0	0	1,232.00	0.00	985.60
03341	Pinus Pinea	#5	105	0	105	15.59	1,636.43	12.47
03343	Pinus Pinea	#15	62	0	62	67.05	4,156.79	53.64
03344	Pinus Pinea	24" BOX	0	0	0	172.48	0.00	137.98
03345	Pinus Pinea	36" BOX	3	0	3	511.28	1,533.84	409.02
03361	Pinus Thunbergii	#1	99	0	99	5.89	582.62	4.71
03362	Pinus Thunbergii	#5	0	0	0	15.59	0.00	12.47
03363	Pinus Thunbergii	#15	12	0	12	67.05	804.54	53.64
03364	Pinus Thunbergii	24" BOX	61	0	61	172.48	10,521.28	137.98
03365	Pinus Thunbergii	36" BOX	5	0	5	511.28	2,556.40	409.02
03360	Pinus Thunbergii Bonsai	36" BOX	0	0	0	739.20	0.00	591.36
04357	Pinus Thunbergii Bonsai	48" BOX	1	0	1	1,478.40	1,478.40	1,182.72
03368	Pinus Torreyana	#5	204	0	204	19.65	4,008.60	15.72
03369	Pinus Torreyana	#15	39	0	39	74.53	2,906.48	59.62
06432	Pinus Torreyana	60" BOX	0	0	0	2,464.00	0.00	1,971.20
07253	Pistache Keith Davey	24" BOX	0	0	0	154.00	0.00	123.20
07653	Pistache Keith Davey	36" BOX	1	0	1	560.00	560.00	448.00
08546	Pistacia C Red Push	24" BOX	0	0	0	154.00	0.00	123.20
08547	Pistacia C Red Push	36" BOX	4	0	4	560.00	2,240.00	448.00
03373	Pistacia Chinensis	#1	395	0	395	5.89	2,324.58	4.71
03374	Pistacia Chinensis	#5	78	0	78	15.59	1,215.63	12.47
03375	Pistacia Chinensis	#15	166	4	162	59.57	9,649.53	47.65
03376	Pistacia Chinensis	24" BOX	74	0	74	154.00	11,396.00	123.20
03377	Pistacia Chinensis	36" BOX	7	0	7	511.28	3,578.96	409.02
03378	Pistacia Chinensis	48" BOX	10	0	10	1,232.00	12,320.00	985.60
04708	Pistacia Chinensis Multi	36" BOX	0	0	0	523.60	0.00	418.88
04335	Pistacia Chinensis Multi	24" BOX	0	0	0	147.84	0.00	118.27
08363	Pistacia Chinensis multi	48" BOX	5	0	5	1,232.00	6,160.00	985.60
03390	Pittosporum Crassifolium Nana	#15	43	0	43	81.90	3,521.49	65.52
03391	Pittosporum Crassifolium Nana	24" BOX	0	0	0	190.96	0.00	152.77
03379	Pittosporum Cream De Mint	#1	0	0	0	6.66	0.00	5.32

03380	Pittosporum Cream De Mint	#5	71	0	71	14.23	1,010.33	11.38
03381	Pittosporum Creme De Mint	#15	69	0	69	67.05	4,626.11	53.64
05661	Pittosporum Silver Sheen	24" TUB	1	0	1	246.40	246.40	197.12
05340	Pittosporum Silver Sheen	#15	57	0	57	111.71	6,367.19	89.36
05070	Pittosporum Silver Sheen	#5	92	0	92	27.10	2,493.57	21.68
07259	Pittosporum Silver Sheen	16" BOX	0	0	0	98.56	0.00	78.85
06151	Pittosporum Silver Sheen NFS	#1	250	0	250	14.91	3,726.25	11.92
06111	Pittosporum t Marj Channon	#5	9	0	9	27.10	243.94	21.68
05558	Pittosporum t Marj Channon	#15	13	0	13	126.67	1,646.65	101.33
07298	Pittosporum t Marj Channon	14" BOX	0	0	0	104.72	0.00	83.78
05655	Pittosporum t Marj Channon NFS	#1	298	0	298	16.34	4,867.83	13.07
08354	Pittosporum Ten. Gold Star	#5	0	0	0	40.66	0.00	32.52
03402	Pittosporum tenuifolium	#5	45	0	45	19.65	884.25	15.72
03403	Pittosporum tenuifolium	#15	63	0	63	81.90	5,159.39	65.52
03404	Pittosporum tenuifolium	24" BOX	0	0	0	172.48	0.00	137.98
03411	Pittosporum tob Variegata	#15	63	0	63	52.09	3,281.36	41.67
03412	Pittosporum tob Variegata	24" BOX	0	0	0	197.12	0.00	157.70
03410	Pittosporum tob Variegata	#5	1,214	0	1,214	10.84	13,162.19	8.67
03409	Pittosporum tob Variegata	#1	807	0	807	4.46	3,595.19	3.56
03413	Pittosporum tob Wheeleri	#1	1,532	0	1,532	4.46	6,825.06	3.56
03414	Pittosporum tob Wheeleri	#5	580	0	580	10.84	6,288.36	8.67
03415	Pittosporum tob Wheeleri	#15	172	0	172	52.09	8,958.62	41.67
03405	Pittosporum tobira	#1	514	0	514	4.46	2,289.87	3.56
03406	Pittosporum tobira	#5	319	0	319	10.84	3,458.60	8.67
03426	Platanus A Bloodgood	#15	29	15	14	67.05	938.63	53.64
03427	Platanus A Bloodgood	24" BOX	29	10	19	172.48	3,277.12	137.98
03428	Platanus A Bloodgood	36" BOX	14	0	14	523.60	7,330.40	418.88
03450	Platanus A Yarwood	24" BOX	2	0	2	197.12	394.24	157.70
03451	Platanus A Yarwood	36" BOX	0	0	0	523.60	0.00	418.88
05995	Platanus A. Columbia	36" BOX	9	0	9	492.80	4,435.20	394.24
04854	Platanus A. Columbia	24" BOX	2	0	2	178.64	357.28	142.91
04404	Platanus A. Columbia	#15	0	0	0	67.05	0.00	53.64
07738	Platanus A. Columbia	48" BOX	4	0	4	1,232.00	4,928.00	985.60
03434	Platanus Mexicana	24" BOX	0	0	0	190.96	0.00	152.77
03435	Platanus Mexicana	36" BOX	1	0	1	523.60	523.60	418.88
04625	Platanus Mexicana	48" BOX	0	0	0	1,232.00	0.00	985.60
03439	Platanus Racemosa	24" BOX	53	0	53	172.48	9,141.44	137.98
03436	Platanus Racemosa	#1	0	0	0	5.89	0.00	4.71
03437	Platanus Racemosa	#5	0	0	0	20.33	0.00	16.26
03438	Platanus Racemosa	#15	4	0	4	59.57	238.26	47.65
03440	Platanus Racemosa	36" BOX	26	0	26	523.60	13,613.60	418.88

03441	Platanus Racemosa	48" BOX	8	0	8	1,232.00	9,856.00	985.60
03442	Platanus Racemosa Multi	#15	19	0	19	67.05	1,273.86	53.64
03443	Platanus Racemosa Multi	24" BOX	12	0	12	172.48	2,069.76	137.98
03444	Platanus Racemosa Multi	36" BOX	7	0	7	523.60	3,665.20	418.88
03445	Platanus Racemosa Multi	48" BOX	1	0	1	1,232.00	1,232.00	985.60
06522	Platanus racemosa Roberts NLG	36" BOX	0	0	0	523.60	0.00	418.88
07709	Platanus racemosa Roberts NLG	72" BOX	1	0	1	2,956.80	2,956.80	2,365.44
03453	Plumbago A Alba	#5	5	0	5	12.87	64.37	10.30
03454	Plumbago A Alba	#15	0	0	0	52.09	0.00	41.67
03452	Plumbago A Alba	#1	500	0	500	4.46	2,227.50	3.56
06165	Plumbago Capens Imperial Blue	#5	0	0	0	10.84	0.00	8.67
06006	Plumbago Capens Imperial Blue	#1	0	0	0	5.89	0.00	4.71
03458	Plumbago capensis (auriculata)	#1	221	0	221	4.46	984.56	3.56
03459	Plumbago capensis (auriculata)	#5	221	0	221	10.84	2,396.08	8.67
03460	Plumbago capensis (auriculata)	#15	22	0	22	52.09	1,145.87	41.67
03461	Plumeria Mixed	#1	6	0	6	11.17	66.99	8.93
03462	Plumeria Mixed	#5	81	0	81	27.10	2,195.42	21.68
03464	Plumeria Mixed	#15	14	0	14	96.86	1,355.97	77.48
09315	Plumeria Mixed	#7	9	0	9	75.00	675.00	60.00
05860	Plumeria Mixed	16" BOX	0	0	0	80.08	0.00	64.06
04614	Plumeria Mixed	24" BOX	1	0	1	197.12	197.12	157.70
07003	Plumeria mixed	#3	0	0	0	27.10	0.00	21.68
06642	Podocarpus Gracilior Col	48" BOX	0	0	0	1,232.00	0.00	985.60
03468	Podocarpus Gracilior Col	#5	903	0	903	15.59	14,073.26	12.47
03469	Podocarpus gracilior Col	#15	84	0	84	59.57	5,003.46	47.65
03470	Podocarpus Gracilior Col	24" BOX	53	0	53	154.00	8,162.00	123.20
03471	Podocarpus Gracilior Col	36" BOX	9	0	9	511.28	4,601.52	409.02
03467	Podocarpus Gracilior Col NFS	#1	1,900	0	1,900	5.89	11,181.50	4.71
03473	Podocarpus Gracilior Esp	#15	0	0	0	119.19	0.00	95.35
03476	Podocarpus Gracilior Multi	24" BOX	1	0	1	154.00	154.00	123.20
03477	Podocarpus Gracilior Multi	36" BOX	0	0	0	511.28	0.00	409.02
03478	Podocarpus Gracilior Multi	48" BOX	3	0	3	1,232.00	3,696.00	985.60
03482	Podocarpus Gracilior STD	24" BOX	0	0	0	154.00	0.00	123.20
03483	Podocarpus Gracilior STD	36" BOX	2	0	2	511.28	1,022.56	409.02
04483	Podocarpus Gracilior STD	60" BOX	0	0	0	3,203.20	0.00	2,562.56
05553	Podocarpus Gracilior STD	48" BOX	3	0	3	1,232.00	3,696.00	985.60
03488	Podocarpus Henkelii	#15	95	0	95	67.05	6,369.28	53.64
03489	Podocarpus Henkelii	24" BOX	9	0	9	172.48	1,552.32	137.98
03491	Podocarpus Henkelii	36" BOX	3	0	3	523.60	1,570.80	418.88
03499	Podocarpus M. 'maki'	#15	75	0	75	67.05	5,028.38	53.64
03500	Podocarpus M. 'maki'	24" BOX	35	0	35	172.48	6,036.80	137.98

03498	Podocarpus M. 'maki' NFS	#5	0	0	0	18.30	0.00	14.64
03494	Podocarpus Macrophyllus	#15	122	0	122	59.57	7,266.93	47.65
03495	Podocarpus Macrophyllus	24" BOX	76	0	76	154.00	11,704.00	123.20
03496	Podocarpus Macrophyllus	36" BOX	3	0	3	511.28	1,533.84	409.02
07566	Podocarpus Macrophyllus	48" BOX	0	0	0	1,232.00	0.00	985.60
03492	Podocarpus Macrophyllus NFS	#1	0	0	0	5.89	0.00	4.71
03493	Podocarpus Macrophyllus NFS	#5	102	0	102	15.59	1,589.67	12.47
03515	Podranea Ricasolina	#1	0	0	0	5.89	0.00	4.71
03517	Podranea Ricasolina	#15	1	0	1	59.57	59.57	47.65
05424	Polygala D. Petite Butterfly	#1	308	0	308	5.89	1,812.58	4.71
05793	Polygala D. Petite Butterfly	#15	0	0	0	59.57	0.00	47.65
05656	Polygala D. Petite Butterfly	#5	112	0	112	16.94	1,897.28	13.55
09014	Polygala Myrtifolia	#1	510	0	510	5.12	2,608.65	4.09
09022	Polygala Myrtifolia	#5	187	0	187	17.60	3,291.20	14.08
07075	Polystichum Munitum	#5	55	0	55	21.68	1,192.57	17.35
07143	Populus fremontii	24" BOX	6	3	3	154.00	462.00	123.20
08116	Populus fremontii	BR 3/8"	0	0	0	8.96	0.00	7.17
06465	Populus fremontii	#5	0	0	0	19.65	0.00	15.72
07696	Populus fremontii	36" BOX	7	0	7	557.76	3,904.32	446.21
08926	Prosopis Alba Morada	36" BOX	3	0	3	650.00	1,950.00	520.00
08104	Prosopis Alba Morada	#7	0	0	0	123.20	0.00	98.56
05093	Prosopis Alba Morada	#1	0	0	0	14.91	0.00	11.92
08707	Prosopis Alba Morada	24" BOX	2	0	2	203.28	406.56	162.62
03521	Prosopis Chilensis	#15	0	0	0	59.57	0.00	47.65
03522	Prosopis Chilensis	24" BOX	4	0	4	221.76	887.04	177.41
04521	Prosopis Chilensis	48" BOX	1	0	1	1,232.00	1,232.00	985.60
07192	Prosopis Chilensis Thornless	24" BOX	0	0	0	203.28	0.00	162.62
05958	Prunus C Krauter Vesuvius L/b	36" BOX	1	0	1	511.28	511.28	409.02
05736	Prunus C Krauter Vesuvius L/b	#15	0	0	0	59.57	0.00	47.65
05346	Prunus C Krauter Vesuvius L/b	24" BOX	3	0	3	154.00	462.00	123.20
04542	Prunus C Krauter Vesuvius Std	#1	0	0	0	10.40	0.00	8.32
03544	Prunus C Krauter Vesuvius Std	36" BOX	1	0	1	511.28	511.28	409.02
03537	Prunus Caroliniana	#1	1,722	0	1,722	5.12	8,808.03	4.09
06204	Prunus Caroliniana	36" BOX	15	0	15	492.80	7,392.00	394.24
03539	Prunus Caroliniana	#15	441	0	441	59.57	26,268.17	47.65
03540	Prunus Caroliniana	24" BOX	32	0	32	172.48	5,519.36	137.98
03538	Prunus Caroliniana	#5	633	0	633	12.87	8,149.24	10.30
06578	Prunus Caroliniana Compacta	16" BOX	0	0	0	67.76	0.00	54.21
07802	Prunus caroliniana compacta	24" TUB	329	0	329	172.48	56,745.92	137.98
07672	Prunus Caroliniana Compacta	36" BOX	9	0	9	537.60	4,838.40	430.08
07591	Prunus Compac. Std	36" BOX	3	0	3	560.00	1,680.00	448.00

03558	Prunus Lyoni	#15	5	0	5	67.05	335.23	53.64
03571	Psidium Cattleianum	24" BOX	1	0	1	215.60	215.60	172.48
03574	Punica Granatum Wonderful	#1	62	0	62	3.69	228.47	2.95
03575	Punica Granatum Wonderful	#5	55	0	55	15.59	857.18	12.47
03576	Punica Granatum Wonderful	#15	20	0	20	59.57	1,191.30	47.65
06569	Punica Granatum Wonderful	36" BOX	0	0	0	616.00	0.00	492.80
03583	Pyracantha Fortuneana Graberi	#15	1	0	1	52.09	52.09	41.67
03584	Pyracantha Fortuneana Graberi	#5	0	0	0	14.56	0.00	11.65
03582	Pyracantha Fortuneana Graberi	#1	0	0	0	4.46	0.00	3.56
03593	Pyracantha Santa Cruz	#1	192	0	192	4.46	855.36	3.56
03594	Pyracantha Santa Cruz	#5	2	0	2	12.20	24.39	9.76
03603	Pyrus C Aristocrat	24" BOX	1	0	1	172.48	172.48	137.98
03604	Pyrus C Aristocrat	36" BOX	1	0	1	511.28	511.28	409.02
07579	Pyrus C Aristocrat	#7	0	0	0	49.28	0.00	39.42
07096	Pyrus C Aristocrat	48" BOX	14	0	14	1,232.00	17,248.00	985.60
08328	Pyrus C Bradford	#7	0	0	0	49.28	0.00	39.42
03607	Pyrus C Bradford	#5	0	0	0	15.59	0.00	12.47
03608	Pyrus C Bradford	#15	15	0	15	59.57	893.48	47.65
03609	Pyrus C Bradford	24" BOX	55	0	55	172.48	9,486.40	137.98
03610	Pyrus C Bradford	36" BOX	13	0	13	511.28	6,646.64	409.02
03611	Pyrus C Bradford	48" BOX	2	0	2	1,232.00	2,464.00	985.60
04712	Pyrus C Whitehouse	48" BOX	3	0	3	1,108.80	3,326.40	887.04
04713	Pyrus C Whitehouse	36" BOX	0	0	0	523.60	0.00	418.88
07708	Pyrus C. Cleveland Selected	24" BOX	57	0	57	203.28	11,586.96	162.62
05643	Pyrus C. Cleveland Selected	#5	0	0	0	19.65	0.00	15.72
04361	Pyrus kawakami Std	48" BOX	5	0	5	1,108.80	5,544.00	887.04
03641	Pyrus kawakami Std	24" BOX	8	0	8	172.48	1,379.84	137.98
03642	Pyrus kawakami Std	36" BOX	9	0	9	511.28	4,601.52	409.02
03638	Pyrus kawakami Std	#1	0	0	0	4.46	0.00	3.56
03636	Pyrus Kawakamii Multi	24" BOX	3	0	3	172.48	517.44	137.98
03637	Pyrus Kawakamii Multi	36" BOX	5	0	5	554.40	2,772.00	443.52
03657	Quercus Agrifolia Natural	24" BOX	86	0	86	162.40	13,966.40	129.92
03659	Quercus Agrifolia Natural	48" BOX	13	0	13	1,386.00	18,018.00	1,108.80
05306	Quercus Agrifolia Natural	B&B	0	0	0	1,386.00	0.00	1,108.80
03658	Quercus Agrifolia Natural	36" BOX	23	0	23	487.20	11,205.60	389.76
03654	Quercus Agrifolia Natural	#1	0	0	0	7.43	0.00	5.94
03655	Quercus Agrifolia Natural	#5	152	0	152	19.65	2,986.80	15.72
03656	Quercus Agrifolia Natural	#15	138	0	138	67.05	9,252.21	53.64

06740	Quercus Agrifolia Natural	72" BOX	36	0	36	3,203.20	115,315.20	2,562.56	
06741	Quercus Agrifolia Natural	60" BOX	11	0	11	2,402.40	26,426.40	1,921.92	
08693	Quercus Agrifolia Natural	FG	21	0	21	2,240.00	47,040.00	1,792.00	
08329	Quercus Agrifolia Std	#7	0	0	0	55.44	0.00	44.35	
06437	Quercus Agrifolia Std	96" BOX	0	0	0	7,392.00	0.00	5,913.60	
03651	Quercus Agrifolia Std	36" BOX	44	15	29	487.20	14,128.80	389.76	
03652	Quercus Agrifolia Std	48" BOX	34	10	24	1,232.00	29,568.00	985.60	
03653	Quercus Agrifolia Std	60" BOX	7	0	7	2,402.40	16,816.80	1,921.92	
03647	Quercus Agrifolia Std	#1	0	0	0	5.89	0.00	4.71	
03648	Quercus Agrifolia Std	#5	28	0	28	18.30	512.26	14.64	
03649	Quercus Agrifolia Std	#15	418	0	418	67.05	28,024.81	53.64	
03650	Quercus Agrifolia Std	24" BOX	135	30	105	224.00	23,520.00	179.20	
04641	Quercus Agrifolia Std	72" BOX	6	0	6	3,696.00	22,176.00	2,956.80	
03667	Quercus Ilex Natural	#5	213	0	213	18.30	3,896.84	14.64	
03662	Quercus Ilex Std	#1	0	0	0	5.89	0.00	4.71	
03663	Quercus Ilex Std	#5	366	0	366	18.30	6,695.97	14.64	
03664	Quercus Ilex Std	#15	244	0	244	67.05	16,358.98	53.64	
03665	Quercus Ilex Std	24" BOX	56	12	44	197.12	8,673.28	157.70	
03666	Quercus Ilex Std	36" BOX	19	0	19	523.60	9,948.40	418.88	
08720	Quercus Ilex Std	#7	170	0	170	55.44	9,424.80	44.35	
06641	Quercus Ilex Std	48" BOX	2	0	2	1,232.00	2,464.00	985.60	
09077	Quercus Ilex Std	72" BOX	1	0	1	2,464.00	2,464.00	1,971.20	
06401	Quercus illex Natural	72" BOX	0	0	0	2,464.00	0.00	1,971.20	
07611	Quercus illex Natural	48" BOX	1	0	1	1,232.00	1,232.00	985.60	
07797	Quercus illex Natural	24" TUB	3	0	3	197.12	591.36	157.70	
05292	Quercus Kelloggii	#1	0	0	0	7.43	0.00	5.94	
03671	Quercus Lobata	#15	183	0	183	67.05	12,269.24	53.64	
03672	Quercus Lobata	24" BOX	29	0	29	197.12	5,716.48	157.70	
04916	Quercus Lobata	48" BOX	33	2	31	1,232.00	38,192.00	985.60	
03674	Quercus Lobata	60" BOX	6	0	6	1,848.00	11,088.00	1,478.40	
03673	Quercus Lobata	36" BOX	30	0	30	523.60	15,708.00	418.88	
03675	Quercus Lobata Natural	#15	0	0	0	67.05	0.00	53.64	
03677	Quercus Lobata Natural	36" BOX	4	0	4	523.60	2,094.40	418.88	
08045	Quercus Lobata Natural	60" BOX	6	0	6	2,402.40	14,414.40	1,921.92	
05725	Quercus Lobata Natural	#5	0	0	0	18.30	0.00	14.64	
05974	Quercus Lobata Natural	48" BOX	20	0	20	1,232.00	24,640.00	985.60	
03686	Quercus Rubra	24" BOX	11	0	11	197.12	2,168.32	157.70	
03687	Quercus Rubra	36" BOX	0	0	0	616.00	0.00	492.80	
04626	Quercus Rubra	48" BOX	5	0	5	1,232.00	6,160.00	985.60	
03688	Quercus Suber	#1	0	0	0	5.89	0.00	4.71	

03689	Quercus Suber	#5	111	0	111	18.30	2,030.75	14.64
03690	Quercus Suber	#15	131	0	131	67.05	8,782.90	53.64
04700	Quercus Suber	72" BOX	0	0	0	3,203.20	0.00	2,562.56
05956	Quercus Suber	84" BOX	0	0	0	4,928.00	0.00	3,942.40
03692	Quercus Suber	36" BOX	2	0	2	523.60	1,047.20	418.88
03693	Quercus Suber	48" BOX	2	0	2	1,232.00	2,464.00	985.60
03691	Quercus Suber	24" BOX	11	0	11	197.12	2,168.32	157.70
08719	Quercus Virginiana	#7	150	0	150	55.44	8,316.00	44.35
04627	Quercus Virginiana	48" BOX	7	0	7	1,232.00	8,624.00	985.60
03705	Quercus Virginiana	36" BOX	16	0	16	523.60	8,377.60	418.88
06219	Quercus Virginiana	72" BOX	0	0	0	3,203.20	0.00	2,562.56
03701	Quercus Virginiana	#1	0	0	0	5.89	0.00	4.71
03702	Quercus Virginiana	#5	100	0	100	18.30	1,829.50	14.64
03703	Quercus Virginiana	#15	34	0	34	67.05	2,279.53	53.64
03704	Quercus Virginiana	24" BOX	61	0	61	197.12	12,024.32	157.70
03718	Raphiolepis Florida NLG	24" BOX	5	0	5	197.12	985.60	157.70
03715	Raphiolepis Florida NLG	#1	0	0	0	5.12	0.00	4.09
03716	Raphiolepis Florida NLG	#5	0	0	0	18.30	0.00	14.64
03717	Raphiolepis Florida NLG	#15	48	0	48	67.05	3,218.16	53.64
03720	Raphiolepis Florida Pt NLG	#15	1	0	1	89.38	89.38	71.50
03724	Raphiolepis Florida St NLG	#5	42	0	42	19.65	825.30	15.72
03725	Raphiolepis Florida St NLG	#15	0	0	0	74.53	0.00	59.62
05331	Raphiolepis Florida St NLG	24" TUB	1	0	1	166.32	166.32	133.06
03706	Raphiolepis i. Ballerina	#1	0	0	0	5.12	0.00	4.09
03707	Raphiolepis i. Ballerina	#5	0	0	0	12.87	0.00	10.30
03708	Raphiolepis i. Ballerina	#15	11	0	11	67.05	737.50	53.64
03709	Raphiolepis i. Clara	#1	1,010	0	1,010	4.46	4,499.55	3.56
03710	Raphiolepis i. Clara	#5	0	0	0	11.52	0.00	9.22
03711	Raphiolepis i. Clara	#15	205	0	205	59.57	12,210.83	47.65
03712	Raphiolepis I. Jack Evans	#1	0	0	0	5.12	0.00	4.09
03713	Raphiolepis I. Jack Evans	#5	422	0	422	12.87	5,432.83	10.30
03714	Raphiolepis I. Jack Evans	#15	26	0	26	67.05	1,743.17	53.64
06945	Raphiolepis i. Jack Evans Pt	#15	0	0	0	89.38	0.00	71.50
03728	Raphiolepis i. Pink Lady	#1	1,260	0	1,260	4.46	5,613.30	3.56
03729	Raphiolepis i. Pink Lady	#5	183	0	183	11.52	2,107.98	9.22
03730	Raphiolepis i. Pink Lady	#15	179	0	179	59.57	10,662.14	47.65
03731	Raphiolepis Ind Pinkie	#1	0	0	0	4.46	0.00	3.56
03732	Raphiolepis Ind Pinkie	#5	7	0	7	11.52	80.63	9.22
03733	Raphiolepis Ind Pinkie	#15	69	0	69	59.57	4,109.99	47.65
03735	Raphiolepis Umbellata Minor	#5	42	0	42	10.84	455.36	8.67
03736	Raphiolepis Umbellata Minor	#15	128	0	128	74.53	9,539.20	59.62

06203	Raphiolepis Umbellata Minor	#1	1,400	0	1,400	5.89	8,239.00	4.71
03741	Rhus Integrifolia	#15	43	0	43	67.05	2,882.94	53.64
03747	Rhus Lancea	#1	0	0	0	5.89	0.00	4.71
03745	Rhus Lancea Multi	24" BOX	16	0	16	154.00	2,464.00	123.20
03746	Rhus Lancea Multi	36" BOX	8	0	8	523.60	4,188.80	418.88
03744	Rhus Lancea Multi	#15	69	0	69	59.57	4,109.99	47.65
03742	Rhus Lancea Multi	#1	0	0	0	7.43	0.00	5.94
03743	Rhus Lancea Multi	#5	4	0	4	22.36	89.44	17.89
05979	Rhus Lancea Multi	48" BOX	1	0	1	1,232.00	1,232.00	985.60
03750	Rhus Lancea Standard	#5	24	0	24	19.65	471.60	15.72
03751	Rhus Lancea Standard	#15	88	0	88	59.57	5,241.72	47.65
03752	Rhus Lancea Standard	24" BOX	52	0	52	154.00	8,008.00	123.20
03753	Rhus Lancea Standard	36" BOX	8	0	8	523.60	4,188.80	418.88
06657	Rhus Lancea Standard	48" BOX	5	0	5	1,232.00	6,160.00	985.60
03767	Robinia Purple Robe	36" BOX	5	0	5	523.60	2,618.00	418.88
05090	Rosa Fl. Iceberg	#1	1,330	0	1,330	7.43	9,875.25	5.94
05078	Rosa Fl. Iceberg	#5	2,204	0	2,204	19.65	43,308.60	15.72
05574	Rosa Fl. Iceberg	#15	174	0	174	59.57	10,364.31	47.65
07067	Rosa Fl. Iceberg	#3	0	0	0	19.65	0.00	15.72
08908	Rosa Fl. Iceberg Burgundy	#15	25	0	25	59.57	1,489.13	47.65
06725	Rosa Fl. Iceberg Burgundy	#5	0	0	0	22.36	0.00	17.89
06387	Rosa Fl. Iceberg Pink	#5	0	0	0	19.65	0.00	15.72
07127	Rosa Fl. Iceberg Pink	#1	0	0	0	8.86	0.00	7.08
07495	Rosa Fl. Iceberg Pink	#15	38	0	38	59.57	2,263.47	47.65
07469	Rosa Fl. Iceberg Red	#15	38	0	38	74.53	2,831.95	59.62
07344	Rosa Fl. Iceberg Red	#5	96	0	96	19.65	1,886.40	15.72
07251	Rosa Fl. Iceberg Red	#1	395	0	395	10.40	4,106.03	8.32
09301	Rosa Happy Chappy	#5	12	0	12	19.65	235.80	15.72
08995	Rosa Knock Out Radrazz	#15	41	0	41	54.18	2,221.18	43.34
08773	Rosa Knockout Radrazz	#15	13	0	13	59.57	774.35	47.65
08811	Rosa Lady Elsie May	#3	0	0	0	19.65	0.00	15.72
04970	Rosa Meidland Red	#5	51	0	51	20.33	1,036.73	16.26
07444	Rosa Meidland Red	#1	0	0	0	10.40	0.00	8.32
08810	Rosa prostata Amber	#3	48	0	48	26.02	1,248.91	20.82
08813	Rosa Prostata Appleblossom	#3	48	0	48	26.02	1,248.91	20.82
09270	Rosa Prostata Appleblossom	#5	0	0	0	26.02	0.00	20.82
09269	Rosa Prostata Elsie	#3	165	0	165	26.02	4,293.14	20.82
07467	Rosa Prostata Hot Pink	#3	0	0	0	26.02	0.00	20.82
05314	Rosa prostrata Coral	#5	3	0	3	26.02	78.06	20.82
05313	Rosa prostrata Pink	#5	0	0	0	26.02	0.00	20.82
05533	Rosa prostrata Pink	#1	0	0	0	10.40	0.00	8.32

07033	Rosa prostrata Pink	#3	78	0	78	26.02	2,029.48	20.82
07023	Rosa prostrata Scarlett	#3	915	0	915	26.02	23,807.39	20.82
06788	Rosa prostrata Single Red	#3	314	0	314	26.02	8,169.97	20.82
06660	Rosa prostrata Single Red	#1	0	0	0	10.40	0.00	8.32
05322	Rosa prostrata White	#1	0	0	0	10.40	0.00	8.32
01530	Rosa prostrata White	#5	27	0	27	26.02	702.51	20.82
08213	Rosa Queen Elizabeth	#5	0	0	0	19.65	0.00	15.72
04975	Rosa Yellow Ribbons	#5	650	0	650	26.02	16,912.35	20.82
08495	Rosmarinus Blue Spires	#15	16	0	16	59.57	953.04	47.65
06558	Rosmarinus Collingwood Ing	#15	0	0	0	59.57	0.00	47.65
03788	Rosmarinus O Prostratus	#1	1,343	57	1,286	3.69	4,738.91	2.95
03789	Rosmarinus O Prostratus	#5	158	2	156	10.84	1,691.35	8.67
06948	Rosmarinus O Prostratus	#15	26	0	26	52.09	1,354.21	41.67
03793	Rosmarinus Off Tuscan Blue	#1	1,597	0	1,597	4.13	6,587.63	3.30
03794	Rosmarinus Off Tuscan Blue	#5	36	0	36	10.84	390.31	8.67
05233	Rosmarinus Off Tuscan Blue	#15	27	0	27	59.57	1,608.26	47.65
03810	Ruellia Brittoniana Blue	#5	10	0	10	11.52	115.19	9.22
03811	Ruellia Brittoniana Katie	#1	0	0	0	5.12	0.00	4.09
03812	Ruellia Brittoniana Katie	#5	104	0	104	11.52	1,197.98	9.22
03813	Ruellia Peninsularis	#5	214	0	214	11.52	2,465.07	9.22
03814	Ruellia Pink	#1	0	0	0	5.12	0.00	4.09
01512	Rumohra Adiantiformis	#1	30	0	30	5.89	176.55	4.71
01513	Rumohra Adiantiformis	#5	160	0	160	14.91	2,385.12	11.93
06662	Russelia Equisetiformis	#5	367	0	367	27.10	9,947.17	21.68
07473	Russelia Equisetiformis	#1	15	10	5	6.00	29.98	4.80
09319	Russelia Equisetiformis Salmon	#5	0	0	0	27.10	0.00	21.68
09282	Russelia Equisetiformis Salmon	#1	2	0	2	7.50	15.00	6.00
09318	Russelia Equisetiformis Yellow	#5	177	0	177	27.10	4,797.41	21.68
09285	Russelia Equisetiformis Yellow	#1	5	0	5	7.50	37.50	6.00
03817	Ruta Graveolens	#1	23	0	23	5.12	117.65	4.09
08555	Salvia Amistad	#5	5	0	5	12.94	64.68	10.35
06846	Salvia Chamaedryoides	#5	44	0	44	10.16	447.22	8.13
06597	Salvia Chamaedryoides	#1	0	0	0	5.12	0.00	4.09
03842	Salvia Chiapensis	#5	10	0	10	10.16	101.64	8.13
03841	Salvia Chiapensis	#1	0	0	0	5.12	0.00	4.09
06603	Salvia Cleve. Allen Chickering	#1	7	0	7	5.12	35.81	4.09
06726	Salvia Cleve. Allen Chickering	#5	56	0	56	12.20	683.03	9.76
03850	Salvia Greggii Red	#1	116	0	116	4.46	516.78	3.56
03851	Salvia Greggii Red	#5	16	0	16	11.52	184.30	9.22
06223	Salvia Greggii Red	#15	0	0	0	44.72	0.00	35.77
03859	Salvia Greggii White	#5	39	0	39	11.52	449.24	9.22

03863	Salvia Leucantha	#1	151	0	151	5.12	772.37	4.09
03864	Salvia Leucantha	#5	31	0	31	11.52	357.09	9.22
03865	Salvia Leucantha	#15	1	0	1	52.09	52.09	41.67
05151	Salvia microphylla 'Hot Lips'	#1	124	0	124	4.46	552.42	3.56
05148	Salvia microphylla 'Hot Lips'	#5	9	0	9	10.16	91.48	8.13
03874	Salvia Waverly	#1	235	0	235	5.12	1,202.03	4.09
03875	Salvia Waverly	#5	0	0	0	11.52	0.00	9.22
08819	Sanseveria Black Star	#5	9	0	9	24.64	221.76	19.71
08666	Sanseveria Trifasciata Black	#1	0	0	0	8.75	0.00	7.00
08938	Sanseveria Trifasciata	#1	29	0	29	8.75	253.61	7.00
04685	Sanseveria Trifasciata	#3	0	0	0	14.91	0.00	11.93
03832	Santolina Virens	#1	0	0	0	3.69	0.00	2.95
06479	Sapium sebiferum NLG	48" BOX	2	0	2	1,232.00	2,464.00	985.60
03890	Schefflera Arboricola	#5	71	0	71	18.30	1,298.95	14.64
03891	Schefflera Arboricola	#15	0	0	0	74.53	0.00	59.62
03898	Schinus molle Multi	#15	137	0	137	59.57	8,160.41	47.65
03899	Schinus molle Multi	24" BOX	39	0	39	154.00	6,006.00	123.20
03900	Schinus molle Multi	36" BOX	21	0	21	511.28	10,736.88	409.02
03901	Schinus molle Multi	48" BOX	6	0	6	1,232.00	7,392.00	985.60
06475	Schinus molle Multi	60" BOX	2	0	2	2,464.00	4,928.00	1,971.20
03896	Schinus Molle Multi NLG	#1	0	0	0	6.66	0.00	5.32
03903	Schinus Molle Standard	#5	45	0	45	18.30	823.28	14.64
03904	Schinus Molle Standard	#15	154	0	154	59.57	9,173.01	47.65
03905	Schinus Molle Standard	24" BOX	52	0	52	152.32	7,920.64	121.86
03906	Schinus Molle Standard	36" BOX	17	0	17	511.28	8,691.76	409.02
03907	Schinus Molle Standard	48" BOX	4	0	4	1,232.00	4,928.00	985.60
03902	Schinus Molle Standard	#1	0	0	0	6.66	0.00	5.32
03911	Schinus Terebinthif Mult NLG	24" BOX	1	0	1	154.00	154.00	123.20
03917	Schinus Terebinthifolius Std	36" BOX	1	0	1	511.28	511.28	409.02
03918	Schinus Terebinthifolius Std	48" BOX	1	0	1	1,232.00	1,232.00	985.60
03915	Schinus Terebinthifolius Std	#15	0	0	0	59.57	0.00	47.65
08066	Sedum Autumn Joy	#1	33	0	33	7.43	245.03	5.94
08865	Senecio Mandraliscae	#5	36	0	36	15.40	554.40	12.32
03931	Senecio mandraliscae	#1	361	0	361	5.89	2,124.49	4.71
09055	Senecio Mandraliscae	4" Flat	57	0	57	23.00	1,311.00	18.40
07629	Senecio Vitalis or cylindricus	#1	66	0	66	7.43	490.05	5.94
03937	Sequoia Semper Aptos Blue	24" BOX	35	0	35	197.12	6,899.20	157.70
03938	Sequoia Semper Aptos Blue	36" BOX	4	0	4	523.60	2,094.40	418.88
03939	Sequoia Semper Aptos Blue	48" BOX	13	0	13	1,232.00	16,016.00	985.60
03935	Sequoia Semper Aptos Blue NFS	#5	0	0	0	21.01	0.00	16.80

03936	Sequoia Semper Aptos Blue NFS	#15	1	0	1	67.05	67.05	53.64
03934	Sequoia Semper Aptos Blue NFS	#1	0	0	0	6.66	0.00	5.32
03948	Sequoia Semper Soquel	24" BOX	23	0	23	197.12	4,533.76	157.70
03949	Sequoia Semper Soquel NLG	36" BOX	11	0	11	523.60	5,759.60	418.88
05270	Sequoia Simpsons Silver NLG	36" BOX	3	0	3	548.24	1,644.72	438.59
06122	Sequoia Simpsons Silver NLG	48" BOX	3	0	3	1,232.00	3,696.00	985.60
05728	Sesleria Autumnalis	#1	470	0	470	5.89	2,765.95	4.71
05729	Sesleria Autumnalis NLG	#5	0	0	0	16.94	0.00	13.55
06088	Sesleria Caeralea	#1	376	0	376	6.66	2,502.28	5.32
04812	Sophora Japonica Std NLG	48" BOX	1	0	1	1,108.80	1,108.80	887.04
04007	Spathodea Campanulata	24" BOX	2	0	2	178.64	357.28	142.91
04818	Spathodea Campanulata	36" BOX	0	0	0	554.40	0.00	443.52
02288	Spiraea Anthony Waterer	#1	0	0	0	5.89	0.00	4.71
06926	Spiraea Anthony Waterer	#5	69	0	69	10.84	748.10	8.67
04020	Stachys Byzantina	#1	6	0	6	6.66	39.93	5.32
04033	Stephanotis Floribunda Stk	#15	1	0	1	74.53	74.53	59.62
07174	Stephanotis Floribunda Stk	16" BOX	0	0	0	73.92	0.00	59.14
04035	Strelitzia nicolia	#1	85	0	85	6.66	565.68	5.32
04037	Strelitzia nicolia	#5	148	0	148	17.60	2,604.80	14.08
04038	Strelitzia nicolia	#15	34	0	34	74.53	2,533.85	59.62
04039	Strelitzia nicolia	24" BOX	0	0	0	197.12	0.00	157.70
04040	Strelitzia nicolia	36" BOX	0	0	0	523.60	0.00	418.88
04043	Strelitzia Reginae	#5	25	0	25	17.60	440.00	14.08
04044	Strelitzia Reginae	#15	2	0	2	74.53	149.05	59.62
04045	Strelitzia Reginae	24" BOX	0	0	0	160.16	0.00	128.13
04047	Succulents Mix	#1	749	0	749	4.46	3,336.80	3.56
05181	Succulents Mix	#5	0	0	0	9.49	0.00	7.59
04066	Tabebuia chrysotricha	#1	65	0	65	5.89	382.53	4.71
04067	Tabebuia chrysotricha	#5	0	0	0	18.30	0.00	14.64
04068	Tabebuia chrysotricha	#15	5	0	5	59.57	297.83	47.65
04069	Tabebuia chrysotricha	24" BOX	6	0	6	154.00	924.00	123.20
09176	Tabebuia Chrysotricha	36" BOX	8	0	8	523.60	4,188.80	418.88
07739	Tabebuia chrysotricha	48" BOX	0	0	0	1,232.00	0.00	985.60
04071	Tabebuia impetiginosa	#1	187	0	187	5.89	1,100.50	4.71
04072	Tabebuia impetiginosa	#5	0	0	0	18.30	0.00	14.64
04074	Tabebuia impetiginosa	24" BOX	3	0	3	154.00	462.00	123.20
04075	Tabebuia impetiginosa	36" BOX	11	0	11	523.60	5,759.60	418.88
06236	Tabebuia impetiginosa	48" BOX	3	0	3	1,232.00	3,696.00	985.60
07909	Tabebuia impetiginosa	60" BOX	0	0	0	2,800.00	0.00	2,240.00
07930	Tabebuia Ipe Natural	#15	4	0	4	59.57	238.26	47.65

05028	Tagetes Lemonii	#1	10	0	10	5.12	51.15	4.09
05769	Tecoma Orange Jubilee	#15	0	0	0	67.05	0.00	53.64
06130	Tecoma Orange Jubilee	#5	52	0	52	16.94	880.88	13.55
06609	Tecoma Stans Narrow Leaf	#5	1	0	1	16.94	16.94	13.55
04089	Tecomaria Capensis	#15	69	0	69	59.57	4,109.99	47.65
04090	Tecomaria Capensis	24" BOX	0	0	0	154.00	0.00	123.20
04085	Tecomaria Capensis	#1	22	0	22	3.69	81.07	2.95
04087	Tecomaria Capensis	#5	0	0	0	10.16	0.00	8.13
04099	Teucrium Chamaedrys (lucidrys)	#1	633	0	633	5.12	3,237.80	4.09
04102	Teucrium Fruiticans	#5	545	0	545	12.20	6,647.37	9.76
07761	Themeda triandra Blue Roo	#1	0	0	0	8.09	0.00	6.47
04111	Thuja Aurea Nana	#5	3	0	3	11.52	34.56	9.22
04112	Thuja Aurea Nana	#15	0	0	0	59.57	0.00	47.65
07597	Thuja Aurea Nana	14" BOX	0	0	0	49.28	0.00	39.42
09311	Thuja Green Giant	#5	155	0	155	21.68	3,360.87	17.35
09302	Thuja Green Giant	#15	71	0	71	67.76	4,810.96	54.21
09029	Thuja Green Giant	#1	0	0	0	7.15	0.00	5.72
06259	Thuja Plicata Emerald	24" BOX	5	0	5	184.80	924.00	147.84
04119	Thuja Plicata Emerald	#15	0	0	0	67.05	0.00	53.64
06218	Thunbergia Alata	#5	99	0	99	18.30	1,811.21	14.64
06502	Thunbergia Gregorii Orange Clo	#5	4	0	4	16.94	67.76	13.55
09324	Tibouchina Heteromalla	24" BOX	1	0	1	175.00	175.00	140.00
04136	Tipuana Tipu Standard	#5	3	0	3	15.59	46.76	12.47
04138	Tipuana Tipu Standard	24" BOX	29	0	29	154.00	4,466.00	123.20
04139	Tipuana Tipu Standard	36" BOX	1	0	1	523.60	523.60	418.88
04140	Tipuana Tipu Standard	48" BOX	1	0	1	1,232.00	1,232.00	985.60
06866	Tipuana Tipu Standard	60" BOX	0	0	0	1,601.60	0.00	1,281.28
07662	Tipuana Tipu Standard	#15	19	0	19	59.57	1,131.74	47.65
04141	Trachelospermum Asiaticum	#1	709	0	709	4.46	3,158.60	3.56
04142	Trachelospermum Asiaticum	#5	267	0	267	11.52	3,075.57	9.22
04148	Trachelospermum Jas. Stkd	#5	406	0	406	14.23	5,777.38	11.38
04146	Trachelospermum Jas. Stkd	#1	0	0	0	5.89	0.00	4.71
04150	Trachelospermum Jas. Stkd	#15	4	0	4	67.05	268.18	53.64
07560	Trachelospermum Jas. Var.	#5	63	0	63	17.86	1,125.43	14.29
07256	Trachelospermum Jas. Var.	#1	0	0	0	5.89	0.00	4.71
06898	Trachelospermum Jasmin Espal	#15	3	0	3	111.71	335.12	89.36
04147	Trachelospermum Jasmin Espal	#5	0	0	0	47.43	0.00	37.95
04144	Trachelospermum Jasminoides	#1	360	0	360	4.46	1,603.80	3.56
04145	Trachelospermum Jasminoides	#5	762	0	762	11.52	8,777.48	9.22
05178	Trachelospermum Jasminoides	#15	59	0	59	59.57	3,514.34	47.65
07511	Trachicarpus Fortunei	#7	0	0	0	44.80	0.00	35.84

06690	Trachycarpus Fortunei Multi	24" TUB	8	0	8	184.80	1,478.40	147.84
06712	Trachycarpus Fortunei	24" TUB	19	0	19	184.80	3,511.20	147.84
03093	Trachycarpus Fortunei	#5	94	0	94	23.72	2,229.30	18.97
03094	Trachycarpus Fortunei	#15	0	0	0	96.86	0.00	77.48
03097	Trachycarpus Fortunei	48" BOX	1	0	1	1,232.00	1,232.00	985.60
06528	Tradescantia Concord	#1	0	0	0	5.56	0.00	4.44
07465	Tradescantia Crimson Jewels	#1	153	0	153	5.56	849.92	4.44
06529	Tradescantia Sour Grape	#1	0	0	0	5.56	0.00	4.44
04153	Tristania Conferta	#15	1	0	1	59.57	59.57	47.65
04154	Tristania Conferta	24" BOX	1	0	1	152.32	152.32	121.86
04155	Tristania Conferta	36" BOX	6	0	6	523.60	3,141.60	418.88
04173	Tulbaghia V. Silver Lace	#1	1,643	35	1,608	4.46	7,163.64	3.56
04174	Tulbaghia V. Silver Lace	#5	559	0	559	11.52	6,439.12	9.22
09211	Tulbaghia Vio. Purp. Ribb.	#5	0	0	0	15.95	0.00	12.76
04171	Tulbaghia Violaacea	#1	25	2	23	3.69	84.76	2.95
04172	Tulbaghia Violaacea	#5	7	0	7	10.16	71.15	8.13
04176	Tupidanthus Calyptratus	#5	0	0	0	15.59	0.00	12.47
04177	Tupidanthus Calyptratus	#15	4	0	4	74.53	298.10	59.62
04178	Tupidanthus Calyptratus	24" BOX	0	0	0	172.48	0.00	137.98
04187	Ulmus parvifolia	#5	27	0	27	15.59	420.80	12.47
07958	Ulmus Parvifolia	48" BOX	14	2	12	1,232.00	14,784.00	985.60
04189	Ulmus parvifolia	24" BOX	107	1	106	154.00	16,324.00	123.20
04188	Ulmus parvifolia	#15	33	0	33	59.57	1,965.65	47.65
09071	Ulmus Parvifolia	#7	0	0	0	54.15	0.00	43.32
04190	Ulmus parvifolia	36" BOX	15	0	15	523.60	7,854.00	418.88
08808	Ulmus Parvifolia Allee	#15	0	0	0	59.57	0.00	47.65
04194	Ulmus Parvifolia True Geen	#15	133	0	133	59.57	7,922.15	47.65
04195	Ulmus Parvifolia True Geen	24" BOX	22	0	22	154.00	3,388.00	123.20
04196	Ulmus Parvifolia True Geen	36" BOX	6	0	6	523.60	3,141.60	418.88
06381	Umbellularia Californica	#15	47	0	47	67.05	3,151.12	53.64
04942	Verbascum	#1	0	0	0	5.78	0.00	4.62
04200	Verbena Mixed	#1	78	0	78	5.12	398.97	4.09
04229	Viburnum T. Spring Bouquet	#1	240	0	240	4.46	1,069.20	3.56
04230	Viburnum T. Spring Bouquet	#5	60	0	60	11.52	691.14	9.22
04231	Viburnum T. Spring Bouquet	#15	0	0	0	52.09	0.00	41.67
05820	Viburnum Walter's Dwarf	#15	0	0	0	67.05	0.00	53.64
04233	Vigna Caracalla	#1	160	0	160	5.12	818.40	4.09
04234	Vigna Caracalla	#5	0	0	0	14.23	0.00	11.38
04235	Vigna Carcalla NLG	#15	0	0	0	67.05	0.00	53.64
04236	Vinca Major	#1	2	0	2	5.12	10.23	4.09
04237	Vinca Major Variegata	#1	1	0	1	4.46	4.46	3.56

06927	Vinca Major Variegata	#5	0	0	0	12.87	0.00	10.30
04246	Vitex Agnus-castus	#5	0	0	0	11.52	0.00	9.22
06610	Vitex trifolia purpurea	#15	23	0	23	59.57	1,370.00	47.65
07795	Washingtonia Robusta	24" TUB	7	0	7	154.00	1,078.00	123.20
06125	Washingtonia Robusta	30" BOX	0	0	0	431.20	0.00	344.96
03150	Washingtonia Robusta	#1	0	0	0	5.89	0.00	4.71
03151	Washingtonia Robusta	#5	21	0	21	15.59	327.29	12.47
03152	Washingtonia Robusta	#15	5	0	5	59.57	297.83	47.65
03153	Washingtonia Robusta	24" BOX	0	0	0	154.00	0.00	123.20
03154	Washingtonia Robusta	36" BOX	4	0	4	492.80	1,971.20	394.24
03155	Washingtonia Robusta	48" BOX	0	0	0	1,232.00	0.00	985.60
06691	Washintonia Robusta	FG	60	0	60	369.60	22,176.00	295.68
07028	Washintonia Robusta	B&B	0	0	0	369.60	0.00	295.68
06640	Wedelia Trilobata	#1	170	0	170	5.12	869.55	4.09
08557	Wedelia Trilobata	#5	36	0	36	11.52	414.68	9.22
08698	Westringia Blue Gem	#15	10	0	10	74.53	745.25	59.62
07380	Westringia Blue Gem	#1	500	0	500	5.89	2,942.50	4.71
07471	Westringia f Mundi	#5	0	0	0	14.23	0.00	11.38
07154	Westringia f. Mundi	#1	490	0	490	5.89	2,883.65	4.71
06524	Westringia Fruticosa	#15	4	0	4	52.09	208.34	41.67
04251	Westringia Fruticosa	#1	1,189	0	1,189	5.12	6,081.74	4.09
04252	Westringia Fruticosa	#5	6	0	6	11.46	68.75	9.17
06577	Westringia fruticosa Smokey	#5	10	0	10	12.20	121.97	9.76
06845	Westringia fruticosa Smokey	#1	600	0	600	5.12	3,069.00	4.09
06875	Westringia fruticosa Smokey	#15	41	0	41	59.57	2,442.17	47.65
06354	Westringia Morning Light	#1	20	0	20	5.12	102.30	4.09
06355	Westringia Morning Light	#5	20	0	20	12.87	257.48	10.30
07128	Westringia Naringa	#1	0	0	0	5.89	0.00	4.71
07311	Westringia Naringa	#5	0	0	0	14.23	0.00	11.38
04259	Westringia Wynyabbie Gem	#5	21	0	21	12.20	256.14	9.76
04260	Westringia Wynyabbie Gem	#15	3	0	3	52.09	156.26	41.67
01521	Woodwardia Firmbriata	#5	11	0	11	19.65	216.15	15.72
04285	Xylosma Congestum	#1	271	0	271	4.46	1,207.31	3.56
04286	Xylosma Congestum	#5	296	0	296	10.16	3,008.54	8.13
04287	Xylosma Congestum	#15	40	0	40	52.09	2,083.40	41.67
04307	Zantedeschia Aethiopica	#1	172	0	172	5.12	879.78	4.09
06519	Zelkova Serrata	36" BOX	5	0	5	523.60	2,618.00	418.88
04327	Zelkova Serrata	24" BOX	0	0	0	154.00	0.00	123.20
05742	Zephyranthes Candida	#1	2,387	0	2,387	5.12	12,209.51	4.09
05743	Zephyranthes Candida	#5	0	0	0	16.94	0.00	13.55

			170,268	342	169,926		6,031,670.80		
--	--	--	---------	-----	---------	--	--------------	--	--